
CHEMISTRY

BOOKS - CHHAYA CHEMISTRY (BENGALI ENGLISH)

ORGANIC CHEMISTRY : BASIC PRINCIPLES AND

TECHNIQUES

Question Answer Zone For Board Examination

1. Which property of carbon is responsible for forming straight chains,

branched chains or rings?

Watch Video Solution

2. What are the reasons for the existence of a large number of organic

compounds?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9T9BHI4H8ixH
https://dl.doubtnut.com/l/_ZiEhef3aO3Fx


Watch Video Solution

3. Find the number of  in the molecule: 

Watch Video Solution

σ − and π − bond

CH3CH2CH = CH − C ≡ CH.

4. Predict the state of hybridisation of the carbon atoms: (1)

Watch Video Solution

HC ≡ CCH3

5. What is the shape of the molecule: ?

Watch Video Solution

C6H5CN

6. Give the shape of the molecule: 

W t h Vid S l ti

HC ≡ C − C ≡ CCI

https://dl.doubtnut.com/l/_ZiEhef3aO3Fx
https://dl.doubtnut.com/l/_JgrnmTE8FFnH
https://dl.doubtnut.com/l/_YCqUGEsZQgN5
https://dl.doubtnut.com/l/_ORIU5cgT6Tgr
https://dl.doubtnut.com/l/_hN6a94gMDUli


Watch Video Solution

7. What is the state of hybridisation of a carbon atom linked to two other

by two double bonds?

Watch Video Solution

8. Arrange the following in order of increasing carbon-carbon bond

length: ethane, entylene and acetylene.

Watch Video Solution

9. What will be the shape of a hydrocarbon molecule containing two

-hybridised C-atom?

Watch Video Solution

sp2 − &sp2  one  sp3

https://dl.doubtnut.com/l/_hN6a94gMDUli
https://dl.doubtnut.com/l/_uoorBzFYNCuY
https://dl.doubtnut.com/l/_grtjs7GPCuhR
https://dl.doubtnut.com/l/_gruiB6uIEe3H


10. Arrange in order of increasing bond dissociation enthalpy:

Watch Video Solution

Csp − Csp3 < Csp2 − Csp2 < Csp − Csp.

11. Arrange the starred C-atoms in the following compound in order of

increasing s-character of their hybridisation states: 

Watch Video Solution

12. Which is the correct bond - line structural formula of `CH_(2)=CH-C-=C

CH_(2)CH_(3)? 

(i) 

View Text Solution

https://dl.doubtnut.com/l/_wzrHLJdf7fiL
https://dl.doubtnut.com/l/_hGf3m9NUG6pX
https://dl.doubtnut.com/l/_gn7570BIp13o


13. write the names of an alicyclic compound and a heterocyclic

compound.

Watch Video Solution

14. Give one example of each benzenoid and nonbenzenoid aromatic

compound.

Watch Video Solution

15. write down the IUPAC name of the compound represented by swastika

sign.

Watch Video Solution

16. Which one is the correct name of an alkyne containing five carbon

atoms?

https://dl.doubtnut.com/l/_TvApue3uZBWP
https://dl.doubtnut.com/l/_BxhjTHXimJGz
https://dl.doubtnut.com/l/_9y4BCQVlODJ5
https://dl.doubtnut.com/l/_qCPfUwy2COuA


Watch Video Solution

17. Mention the name of the alkyl group that may be obtained by removal

of one  H-atom from propane.

Watch Video Solution

2∘

18. How many alkyl groups are expected to be obtained from

 by the removal of different non-

equivalent H - atoms?

Watch Video Solution

CH3CH2CH2CH(CH3)CH2CH3

19. Which of the following has no existence? (1) , (2) 

, (3) , (4) 

Watch Video Solution

1∘ H-atom

3∘ C - atom 2∘ H - atom 4∘ H-atom

https://dl.doubtnut.com/l/_qCPfUwy2COuA
https://dl.doubtnut.com/l/_kL4G39vIyGID
https://dl.doubtnut.com/l/_KRWAkzJt77P1
https://dl.doubtnut.com/l/_cSUagV4NtAhZ
https://dl.doubtnut.com/l/_OKOTbPEWBvCx


20. How many  are there in 2,2,3,3 - tetramethylbutane?

Watch Video Solution

4∘ C  atoms

21. How many  are there in 4 - ethly-2-methylhexane?

Watch Video Solution

3∘ H-atoms

22. Write the band-line structural formula of an alkane with five carbon

atoms which has only primary hydrogen atoms.

Watch Video Solution

23. Give examples of two terminal functional groups.

Watch Video Solution

https://dl.doubtnut.com/l/_OKOTbPEWBvCx
https://dl.doubtnut.com/l/_CrHmLQOkybYI
https://dl.doubtnut.com/l/_iDPgZlBY6nM9
https://dl.doubtnut.com/l/_maqP1zhDcPxf


24. How many univalent groups are expected to be obtained from

toluene?

Watch Video Solution

25. What are the primary suffixes used to write IUPAC names of

?

Watch Video Solution

CH3CH3, CH2 = CH2 and HC ≡ CH

26. Give an example of a saturated hydrocarbon which can be represented

by the general formula, .

Watch Video Solution

CnH2n

27. How many  - bonds are there in 3-methylidene-1,-4 pentadine?

Watch Video Solution

π

https://dl.doubtnut.com/l/_pP5Z5EA3SN1Y
https://dl.doubtnut.com/l/_pJ4Z1vBhi8BL
https://dl.doubtnut.com/l/_Xaw9cIFfIDLV
https://dl.doubtnut.com/l/_PB8Uf1Ardypb


28. Write names of the alkyl group(S) which may be obtained from

.

Watch Video Solution

(CH3)4C

29. Write the IUPAC name of a hydrocarban containing one sp, two & two

 - hybridised C - atoms.

Watch Video Solution

sp2

30. How many alkyl groups are possible having the molecular formula,

?

Watch Video Solution

C4H9

31. Which type of isomerism is exhibited by n- pentane and neopentane?

W h Vid S l i

https://dl.doubtnut.com/l/_PB8Uf1Ardypb
https://dl.doubtnut.com/l/_IDOqJFO2E2vo
https://dl.doubtnut.com/l/_Mfx7YVFGbyCd
https://dl.doubtnut.com/l/_GvfUkhTrGbZu
https://dl.doubtnut.com/l/_K4W2cDECkkDX


Watch Video Solution

32. Write down the structure and the IUPAC name of the tautomer of

butanal.

Watch Video Solution

33. How many strutural isomers will be obtained by the displacement of

two H-atoms of propane by two CI-atoms? Write their structures.

Watch Video Solution

34. Write structures and names of two compounds which are position

isomers as well as metamers.

Watch Video Solution

https://dl.doubtnut.com/l/_K4W2cDECkkDX
https://dl.doubtnut.com/l/_Bg4AK2p0te1M
https://dl.doubtnut.com/l/_ckd0o83fI28i
https://dl.doubtnut.com/l/_PH8WyIi7oRUe


35. How are the two compounds,  and  related to

each other?

Watch Video Solution

CH2 = CHCH2CH3 □

36. Which two of the following are geometrical isomers? 

View Text Solution

37. Which of the following compounds do not exhibit geometrical

isomerism? (1) phCH = CHPH (2)  (3)

Watch Video Solution

Me2C = NOH

CH2 = CH − CH = CH − CH = CH2

38. Which of the given compounds are optically active? 

View Text Solution

https://dl.doubtnut.com/l/_rgfVv3oLhz9S
https://dl.doubtnut.com/l/_kK31AHFp7iol
https://dl.doubtnut.com/l/_8eeAHVfazLwe
https://dl.doubtnut.com/l/_NYe1IS0vulqY


39. Mention the type of the following reaction :

Watch Video Solution

Me3CCH2OH + HBr → Me2CBrCH2CH3 + H2O

40. How many types of non-equivalent H-atoms are present in the given

compound? 

View Text Solution

41. In which of the given compounds, all the Hd-atoms are equivalent? 

View Text Solution

42. Calculate the double bond equivalent (DBE) of the compound having

molecular formula, . Is the compound aromaatic?

W h Vid S l i

C6H8

https://dl.doubtnut.com/l/_NYe1IS0vulqY
https://dl.doubtnut.com/l/_t652KCC6pniU
https://dl.doubtnut.com/l/_FHvmph3d5cAI
https://dl.doubtnut.com/l/_tUEDCSbWRx5b
https://dl.doubtnut.com/l/_9lICKqb4aGNY


Watch Video Solution

43. How many monobromo derivatives are possible for each of ortho, meta

and para-xylene?

Watch Video Solution

44. Arrange the following groups in order of decreasing strenght of -I

effect: -

Watch Video Solution

45. Arrange the following free radicals in the decreasing order of their

stability: 

View Text Solution

https://dl.doubtnut.com/l/_9lICKqb4aGNY
https://dl.doubtnut.com/l/_Vq5JHTozUKUS
https://dl.doubtnut.com/l/_0R9ftEfnDL7g
https://dl.doubtnut.com/l/_EkV2MgEl7JS5


46. In which C_C bond of , the inductive effect is expected

to be the least?

Watch Video Solution

CH3CH2CH2Br

47. Arrange the following carbocations in increasing order of stability: 

View Text Solution

48. Arrange the following compounds in increasing order of number of

hyperconjugable hydrogen atoms: 

View Text Solution

https://dl.doubtnut.com/l/_h3VdKOgZjVwA
https://dl.doubtnut.com/l/_8MYff65lQhiL
https://dl.doubtnut.com/l/_dGRzaWduRzSV


49. Arrange the following compounds in order of increasing bond

dissociation enthalpy: (1)  ,  (3) 

, (4)

Watch Video Solution

CH3 − H (2)(CH3)2CH − H,

(CH3)3C − H CH3CH2 − H

50. Arrange the following in increasing order of stability: 

View Text Solution

51. How can aniline be purified?

Watch Video Solution

52. How can glycerol be purified?

Watch Video Solution

https://dl.doubtnut.com/l/_xqA8SxMUU6NI
https://dl.doubtnut.com/l/_TwBHPrOTtOGO
https://dl.doubtnut.com/l/_yArqeK5cWUjR
https://dl.doubtnut.com/l/_uEqjv4RcYs4K


53. Suggest a method to separate a mixture of o-hydroxy-benzaldehyde and

p-hydroxybenzaldehyde.

Watch Video Solution

54. How will you separate a mixture of two solid compounds of different

solubilities in the same solvent?

Watch Video Solution

55. An organic liquid decomposes below its bolling point. How can it be

purified?

Watch Video Solution

https://dl.doubtnut.com/l/_uEqjv4RcYs4K
https://dl.doubtnut.com/l/_nuhYw4F602HR
https://dl.doubtnut.com/l/_9ctY26V4C4Gt
https://dl.doubtnut.com/l/_jVcvaiRS8MvG


56. Which technique can be used to purify iodine containing traces of

common salt?

Watch Video Solution

57. Suggest a method for the purification of a liquid contanining non-

volatile impurities.

Watch Video Solution

58. How can anline  be separated from petroleum ether 

?

Watch Video Solution

(b. p. 184∘C)

(b. p. 40 − 60∘C)

59. Out of water and benzene, which can be used to purify benzoic acid

containing naphthalene by fractional erystallisation?

https://dl.doubtnut.com/l/_KK1rqqnCHcgg
https://dl.doubtnut.com/l/_qbcOw8S1Bv45
https://dl.doubtnut.com/l/_7xxvLtT1xr3f
https://dl.doubtnut.com/l/_cUceeiLD2691


Watch Video Solution

60. Give example of a chromatophic technique in which both the mobile and

stationary phases are liquids.

Watch Video Solution

61. Mention two distillation processes in which organic liquids boil at

temperatures below their respective boiling points.

Watch Video Solution

62. Explain why the Lassaigne's extract should not be prepared by using tap

water.

Watch Video Solution

https://dl.doubtnut.com/l/_cUceeiLD2691
https://dl.doubtnut.com/l/_iPWfkymc81BJ
https://dl.doubtnut.com/l/_zS1h12khTJgC
https://dl.doubtnut.com/l/_6YW81ybLDVMk


63. Give example of a compound which does not contain halogen but gives

Beilstein's test.

Watch Video Solution

64. In Carius method for estimation of phosphours, the precipitate of which

compound is finally obtained?

Watch Video Solution

65. A compound (A) after fusion with metallic sodium gives a precipitate

when silver nitrate solution is added to a portion of th filtrate acidified with

nitric acid. Compound (A) is likely to be: (1)  (2)

 (3)  (4)

Watch Video Solution

CH3CH2CH2Br

CH3CH2CHO CH3CH2CH2OH CH3CH2COOH

https://dl.doubtnut.com/l/_HJxMVCuHy5sa
https://dl.doubtnut.com/l/_17jDBuHvKdaJ
https://dl.doubtnut.com/l/_UUYoVuA7sBgH


Short Answer Type

66. Give example of a nitrogenous organic comound to which Kjeldahl's

method for the estimation of nitrogen is not applicable.

Watch Video Solution

1. Which atoms in a toluene molecule always remain in the same plane and

why? (2) Which atoms in a propyne molecule remain in a straight line and

why?

Watch Video Solution

2. Write the state of hybridisation of C-atoms in the following compounds

ans perfect the shape of each of the molecules : (1)  (2)  (3) 

 (4) CH_(2) = C = CH_(2)

Watch Video Solution

H2 = O CH3CI

HC ≡ N (5)CH2 = C = CCH2

https://dl.doubtnut.com/l/_Oh19nEKuR0u4
https://dl.doubtnut.com/l/_o7g6D3cElhcs
https://dl.doubtnut.com/l/_QVKfbtu7V1JT


3. Write IUPAC name of the compound,  mentioning secondary primary

prefix, word root, primary suffix & secondary suffix respectively.

View Text Solution

4. Expand each of the following condensed formulas into their complete

structural formulas: 

(i)  


(ii)  


(iii)  


(2) Write bond line formulas of the following two compounds: 

(i)  


(ii) 

Watch Video Solution

HOCH2CH2NH2

CH3CH = CHCOCH3

CH3C = CCH2COOH

CH3CH2CH2CH2CHBrCH2OH

(C2H5)CHCH2OH

https://dl.doubtnut.com/l/_QVKfbtu7V1JT
https://dl.doubtnut.com/l/_Bw9uSJVmFkgC
https://dl.doubtnut.com/l/_TMiHd6NNA0cm


5. (1) How many  bonds are present in (i) 

?

Watch Video Solution

σ and π

CH2 = CH − CN and (ii)CH2 = CCHCH3

6. Which of the given compounds may exist as two or more isomeric forms?

Give the strutures and names of the possible isomers. 

(1)  


(2)  


(3)  


(4)  


(5)  


(6) 

Watch Video Solution

CHBr3

C2H2CI4

C3H3

C2H5F

C2H4Br2

C6H4CI2

7. Write the structures and IUPAC names of the compounds with molecular

formula, .C4H8O2

https://dl.doubtnut.com/l/_5yOpBQfJq2Gr
https://dl.doubtnut.com/l/_20GFkrqOrTUG
https://dl.doubtnut.com/l/_Ao2NErh0AvDO


Watch Video Solution

8. Write the structures and IUPAC names of the compounds with molecular

formula, .

Watch Video Solution

C4H10O

9. Which of the following compounds will exhibit tautomerism and which do

not? Give reasons. 

(1)  


(2)  


(3)  


(4)  


(5) 

Watch Video Solution

CH3COCH3

C6H5COC6H5

C6H5COCH3

C6H5CHO

MeCOCHMe3

https://dl.doubtnut.com/l/_Ao2NErh0AvDO
https://dl.doubtnut.com/l/_5emHCA96Aaif
https://dl.doubtnut.com/l/_YlU8G54Csh8k


10. Designte following pairs as metamers, chain isomers, position isomers,

functional isomers, stereoisomers. Also, indicate which are not isomers at

all. 

(1)  


(2)  


(3)  

(4)  


View Text Solution

(CH3)2CHC(CH3)3, (CH3)4C

CH3CH2CH2OHCH3OCH2CH3

(CH3)2CHCOCH3, (CH3)2CHCH2CHO

CH3OCH2CH2CH3, CH3CH2OCH2CH3

11. Which of the following compounds will exhibit geometrical isomerism

and why? (1)  


(2)  


(3)  


Watch Video Solution

CH3CH = CCI2

CH3CH = CCICH2CH3

CH2 = CH − CH2

https://dl.doubtnut.com/l/_ShZ6rWXoUZcy
https://dl.doubtnut.com/l/_nsTChSLJlTbk


12. Which of the following compounds are optically active and why? (1)

 


(2)  


Watch Video Solution

CH3CHBrCH2CH3

(CD3)2CHCH2CH3

13. Which type of stereoisomerism is exhibited by the compound,

? How many stereoisomers are

possible? Draw the structured and designate them as E/Z.

Watch Video Solution

CH3CH = CH − CH = CHC2H5

14. Name a compound having two dissimilar asymmetric carbon atoms and

write its struture. What type of isomulas does it exhibit? Draw Fischer

projection formulas of the isomers and comment on their optical activity.

How are the isomers related to each other?

Watch Video Solution

https://dl.doubtnut.com/l/_jUNU8w8sspb8
https://dl.doubtnut.com/l/_n0hbwA7MyJeB
https://dl.doubtnut.com/l/_QKqPBqIW08G2


15. Explain why the C-C bond length in benzene is in between the carbon-

carbon bond lenghts of ethylene  and ethane 

respectively.

Watch Video Solution

(CH2 = CH2) (CH3 − CH3)

16. Arrange cis - but - 2 ene, trans - but - 2 - ene and but - 1 ene in increasing

order of their stability and give reason.

Watch Video Solution

17.  is unreactive towards  reaction - why?

Watch Video Solution

CH3Cl SN1

18. Explain the orders of acidity of carboxylic acids: 

(1)  
Cl3CCOOH > CI2CHCOOH > ClCH2COOH

https://dl.doubtnut.com/l/_EjmjD3abUbgW
https://dl.doubtnut.com/l/_11YsBasqbdnR
https://dl.doubtnut.com/l/_5OzQEXnlbYm3
https://dl.doubtnut.com/l/_nKQft1GaIr5R


(2) 

Watch Video Solution

CH3CH2COOH > (CH3)2CHCOOH > (CH3)3CCOOH

19. Arrange in order of increasing stability : 

(1)  


(2)  


(3) 

Watch Video Solution

(CH3)
2

⊕

CH, CH3

⊕

CH2, (CH3)
3

⊕

C,
⊕

CH3

⊕

CH3, (CH3)2

⊕

CH, (CH3)3

⊕

C, CH3

⊕

CH2

.

CHH3, (CH3)2

.

CH, (CH3)3

.

C, CH3

.

CH2

20. Explain why an orgainc liquid vaporises below its boiling point when it

undergoes steam distillation.

View Text Solution

21. (1) Write the state of hybridisation of C - atoms menthoned in each of

the following compounds: 

https://dl.doubtnut.com/l/_nKQft1GaIr5R
https://dl.doubtnut.com/l/_EcGa5LmssUQT
https://dl.doubtnut.com/l/_1dgdL29bTLk5
https://dl.doubtnut.com/l/_RSZcW4DHV2cW


(a) C - 4 of pent - 1 en - 4 - yne 

(b) C - 1 of Propanoic acid 

(d) C - 3 of Pentan - 3 - one and 

( e ) C - 3 of 3,3 diethylpentane 

(2) Which atoms of each of the following molecules / ions always remain in

the same plane? 

(a)  


(b)  


(c)  


(d)  


(e)  


(f)  


(g)  


(h)  


(i)  

(j)  

(k)  


(i)  

(m) 

CH3CH = CHCH3

C6H5C ≡ C − CN

C6H5CH3

CH2 = C = CH2

CH3COCH3

CH − (3)CONH2

CI3C − CH −
Θ

CH2

(CD3)3

⊕

C

Θ

CH2COCH2CH3

(CH3)2

⊕

CH − NH2

https://dl.doubtnut.com/l/_RSZcW4DHV2cW


View Text Solution

22. The boiling point of a pure organic liquid is . There are two

samples of this liquid having boiling range: (1) 

respectively. Which one of them is more pure and why?

Watch Video Solution

78∘C

76 − 78∘C and 69 − 78∘C

23. What is an azeotropic mixture? Give example.

Watch Video Solution

24. A mixture contains two organic solids, A and B. The solubilities o f A and

B in water are 12 g per 100 ml. and 3 g per 100 ml respectively. How will you

separate A and B from this mixture?

Watch Video Solution

https://dl.doubtnut.com/l/_RSZcW4DHV2cW
https://dl.doubtnut.com/l/_xOY7GffbRyYX
https://dl.doubtnut.com/l/_uMkZPmCmztzO
https://dl.doubtnut.com/l/_Etrz7y4MiVdT
https://dl.doubtnut.com/l/_ZEP9Fxo8lcdM


25. What is seeding?

Watch Video Solution

26. Suggest methods for the separation of the compenents in each of the

following mixtures: 

(1) A mixture of liquid A (b.p.366K) and liquid B (b.p.355.5 K). 

(2) A mixture of liquid C (b.p.360 K) and liquid D (b.p.420 K).

Watch Video Solution

27. A mixture contains three amino acids. How can they be identified?

Watch Video Solution

28. The  values of X and Y in a mixture determined by TLC method in a

solvent mixrture are 0.75 and 0.25 respectively. If the mixture is separated

Rf

https://dl.doubtnut.com/l/_ZEP9Fxo8lcdM
https://dl.doubtnut.com/l/_uRPrvPm2VTHz
https://dl.doubtnut.com/l/_x3ciJ6yVJ4CO
https://dl.doubtnut.com/l/_5VUX8lQvwanp


by column chromatography using the same solvent mixture as the mobile

phase, which of the two components, will elute first and why?

Watch Video Solution

29. Why is an organic compound fused with sodium for testing nitrogen,

halogens sulphur?

Watch Video Solution

30. (1) The electronic configuration of C - atoms is: , yet its valency

is four - why? 

(2) The four C - H bonds of methane molecule are equivalent - explain with

reasons.

Watch Video Solution

1s22s22p2

https://dl.doubtnut.com/l/_5VUX8lQvwanp
https://dl.doubtnut.com/l/_rzuUTn5UFpLs
https://dl.doubtnut.com/l/_pn8z0feAhkrE


31. (1) Arrange  - orbitals in increasing order of : 


(a) bond length 

(b) bond angle 

( c ) bond energy 

(d) size of orbitals and 

( e ) s - character. 

(2) Organic compounds are usually water insoluble. Why? 

(3) Write the structure of the smallest hydrocarbon having empirical

formula . What is the shape of the molecule? 


(4) Draw the p - orbitals involed in forming  - bonds in the molecule, 

 and predict whether the molecule is planar or not.

View Text Solution

sp, sp2&sp3

C2H

π

CH2 = C = CH2

32. Give the IUPAC names of the following compounds: 

(1)  


(2)  


(3)  


CH3CHCICHBrCH3

CH3CHFOCH2CH3

(CH3)2CHCH2OH

https://dl.doubtnut.com/l/_iJGuL0Dp9wo2
https://dl.doubtnut.com/l/_uGZJpfvqY91n


(4)  


(5)  


(6)  


(7)  

(8)  

(9)  


(10)  


(11)  


(12)  


(13)  

(14) 

View Text Solution

CH3COOCH(CH3)2

CH3CHBrCH(CH3)COOH

CH3CHOHCH2CHO

HC ≡ CCH(CH3)CH = CH2

CH3OCH(CH3)CH2CH3

CH3CHICH2CONH2

BrCH2CBr(CH2)3CHCI2

CH3COCH2COCH3

33. Write structures of the following: 

(1) Hept - 5 ene - 1 - yne 

(2) 1 - bromo - 2 ethoxyethane 

(3) 3 - chloropropanoyl bromide 

(4) 1 - chloropropan - 2 - amine 

https://dl.doubtnut.com/l/_uGZJpfvqY91n
https://dl.doubtnut.com/l/_MfOREPJKFXfw


(5) 4 - iodo - 3 - nitrobutanal 

(6) 3 - phenylprop - 2 enoic acid 

(7) Ethanoic methanoic anhydride 

(8) 2 - carbomyl - propanoic acid 

(9) Pentane - 2,4 - dione 

(10) 5 - formyl - 3 -oxopentanoic acid 

(11) tert - butyl alcohol 

(13) Trimethylacetic acid 

(14) Diethyl - butane - 1,4 diaote 

(15) 3 - (carboxymethyl) pentane - dioic acid 

(16) 1,3 - dimethylcyclohex - 1 - ene

View Text Solution

34. Draw resonance strutures of following compounds. 

(1)  


(2)  


(3)  


(4)  


C6H5OH

C6H5NO2

CH3CH = CHCHO

C6H5CHO

https://dl.doubtnut.com/l/_MfOREPJKFXfw
https://dl.doubtnut.com/l/_upB5fVCjqt8N


Solved Wbchse Scanner

(5)  


(6) 

Watch Video Solution

C6H5

⊕

CH2

CH3CH = CH
⊕

CH2

35. Explain: (1) A mixture of ether and water can be separated by simple

distillation. 

(2) Water present in rectified spirit can be removed by azeotropic

distillation. 

(3) Benzoic acid can be extarced from its aqueous solution using benzene. 

(4) Sugar containing NaCI as impurity can be purified by crystallisation

using ethanol but not water. '

Watch Video Solution

1. Give IUPAC name: CH3CH = CHCOOH, CH3COOC2H5

https://dl.doubtnut.com/l/_upB5fVCjqt8N
https://dl.doubtnut.com/l/_MIzCLUMHhwRq
https://dl.doubtnut.com/l/_QSDyKat2NA74


Watch Video Solution

2. How will you detect presence of sulphur in an organic compound?

Watch Video Solution

3. Write the formula of the compound: 

Watch Video Solution

H3C − O −

1CH3

∣
2C

∣
3CH3

− CH3

4. An organic compound containing C, H, N and CI is fused with exces of

metallic sodium and the fused mass is extracted with distilled water, Which

radicals are expected to be present in the resulting aqueous solution?

Watch Video Solution

https://dl.doubtnut.com/l/_QSDyKat2NA74
https://dl.doubtnut.com/l/_i6U8JUjghfLe
https://dl.doubtnut.com/l/_PxqrYlHXDScx
https://dl.doubtnut.com/l/_5A6bKnnIKERg


5. How many  bonds are present in buta - 1,3 diyne?

Watch Video Solution

σ&π

6. Write the IUPAC names of the following compounds: 

Watch Video Solution

H2C = CH − CH ≡ CH and (H3C)3C − OHH3C −

1CH3

∣

C
∣

3CH3

2-methylpropan-2-ol

− O

7. In the Lassaigne's  reponds to the test for the element

chlorine but not for the element nitrogen. Explain.

Watch Video Solution

NH2O ⋅ HCI

8. Which of the following compounds does not respond to Lassaigne test

for nitrogen -

https://dl.doubtnut.com/l/_dHTYGLnSQF1h
https://dl.doubtnut.com/l/_2aVd8cnxXoJm
https://dl.doubtnut.com/l/_GPiHzrZ4y7GJ
https://dl.doubtnut.com/l/_PQqhd3Jq2p5C


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C6H5NH2. HCl

H2NCONHNH2. HCl

NH2OH. HCl

9. Which species is stablised by hyperconjugation -

A. 

B. CH_(3)-overset(CH_(3))overset(|)underset(CH_(3))underset(|)

(""^(oplus)C)'

C. 

CH2 = CH −
⊕

CH2

CH3 −

CH3

∣

C
∣

CH3

Θ

https://dl.doubtnut.com/l/_PQqhd3Jq2p5C
https://dl.doubtnut.com/l/_v0pMw3CmeX3s


D. 

Answer: B

Watch Video Solution

CH3 − CH =
Θ

CH

10. What type of fission of a covalent bond produces free radicals? Give an

example with proper sign.

Watch Video Solution

11. Write down the IPUAC name of the following compound: 

Watch Video Solution

CI −

Br

∣

C
∣

H

− CH2OH

https://dl.doubtnut.com/l/_v0pMw3CmeX3s
https://dl.doubtnut.com/l/_tkVcN5Zx1Jqd
https://dl.doubtnut.com/l/_TmOfRpGGVTCM


12. Draw the structure of the following compound: 3,4-dimethylpentanoic

acid

Watch Video Solution

13. Draw the conanicals of . In which case

resonance is more important?

Watch Video Solution

CH3COOH and CH3COOΘ

14. Write the principal of estimation of carbon and hydrogen in an organic

compound.

Watch Video Solution

15. Which one of the carbanions is the most stable-

A. 
Θ

CH3

https://dl.doubtnut.com/l/_CHCf2PASEc2I
https://dl.doubtnut.com/l/_Ua9mPLwTPSyF
https://dl.doubtnut.com/l/_MxUcxLmJbbY6
https://dl.doubtnut.com/l/_BI3mFcscCFkh


B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3

Θ

CH2

CH3 −
Θ

C
∣

CH3

16. Write down the IUPAC name of the following compound:

Watch Video Solution

CH3COCH2C
∣

CI

HCOCH3

17. Write down the structural formula of the folllowing compound: Hex - 1 -

en - 4 - yne

Watch Video Solution

https://dl.doubtnut.com/l/_BI3mFcscCFkh
https://dl.doubtnut.com/l/_K12LSwnNHXm2
https://dl.doubtnut.com/l/_FgfKQScsAFu8
https://dl.doubtnut.com/l/_nZQGgNqwCQHb


18. Arrange the following radicals in increasing order of - I effect: I , Br , CI , F

Watch Video Solution

19. Write the structural formula of the following compound: 5 - aminopent -

3 - enoic acid

Watch Video Solution

20. Why is  more stable than ?

Watch Video Solution

(CH3)3C
⊕ CH3CH

⊕
2

21. Indicate the electrophilic centre of the following compounds:

.

Watch Video Solution

CH3CHO, CH3CN

https://dl.doubtnut.com/l/_nZQGgNqwCQHb
https://dl.doubtnut.com/l/_LXSBYeNUSI9E
https://dl.doubtnut.com/l/_utBYlQ6ojkkn
https://dl.doubtnut.com/l/_So2lNLRRiwFP
https://dl.doubtnut.com/l/_FYFE4ObVJe9x


22. In which of the following compound chiral C - atom is present-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CHCHI2

CH3CH(OH)CH3

CH3CH(OH)COOH

CH3C(OH)2CH2COOH

23. Which one is most acidic among the given compounds-

A. 

B. 

C. 

D. 

C2H2

C6H6

C2H6

CH3OH

https://dl.doubtnut.com/l/_FYFE4ObVJe9x
https://dl.doubtnut.com/l/_5RWptOPdRpPx


Answer: D

Watch Video Solution

24. If in an organic compound both N and S elements are present, in

Lassaigne's test which ion may be found-

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CN Θ

S2 Θ

N 2 Θ

SCN Θ

25. Between  which one is most acidic and why?

Watch Video Solution

CH3COOH and HCOOH

https://dl.doubtnut.com/l/_5RWptOPdRpPx
https://dl.doubtnut.com/l/_sKxOnTumrODu
https://dl.doubtnut.com/l/_dRPp4S0Yvto0


26. Name IUPAC name of the following: 

Watch Video Solution

CH2 − OH

∣

CH2 − OH

∣

CH2 − PH

27. Name IUPAC name of the following: 

Watch Video Solution

CH3CCI2 − CH2 − COOH

28. By which property the stability of  ion could be explained?

Watch Video Solution

(CH3)3C
⊕

29. Which of the following compounds is formed when a nitrogenous

organic comound is heated with metallic sodium-

https://dl.doubtnut.com/l/_dRPp4S0Yvto0
https://dl.doubtnut.com/l/_8P1glDrpm2SR
https://dl.doubtnut.com/l/_MSMJPzdEXUNR
https://dl.doubtnut.com/l/_yqsHlz7ydKCG
https://dl.doubtnut.com/l/_ZPM5USmiZke9


A. sodium nitrate

B. sodium nitrite

C. sodium amide

D. sodium cyanide

Answer: D

Watch Video Solution

30. Which of the following is the stablest carbocation -

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − CH2 −
⊕

CH2

H2C = CH −
⊕

CH2

C6H5

⊕

CH2

(CH3)3

⊕

C

https://dl.doubtnut.com/l/_ZPM5USmiZke9
https://dl.doubtnut.com/l/_tiEPdWktjUJX


31. Explain the order of basicity of the following compounds.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3 − CH2 − NH2

CH3 − CH = N − H

CH3 − CH2CN

32. A compound having molecular formula  can form only one

monobromo derivative. Draw the structure of the compound.

Watch Video Solution

C8H18

https://dl.doubtnut.com/l/_tiEPdWktjUJX
https://dl.doubtnut.com/l/_8JpoEcKrtkQt
https://dl.doubtnut.com/l/_1j60QAV9jfXx


33. Is 2 - hydroxypropanoic acid optically active? Explain.

Watch Video Solution

34. Which of the following is a carbanion -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3O
Θ

CH3CH
Θ

2

CH3COOH
Θ

C6H5O
Θ

35. In the Lassaigne's test, for the detection of nitrogen in an organic

compound, with which of the following metals the organic compound is

fused -

https://dl.doubtnut.com/l/_DnLJb2V7F9pA
https://dl.doubtnut.com/l/_H82KQePOucS9
https://dl.doubtnut.com/l/_BT7d6o0Kjttc


A. Li

B. Mg

C. Na

D. Zn

Answer: C

Watch Video Solution

36. Between  which compound undergoes

heterolytic fission readily in water? Why?

Watch Video Solution

(CH3)3C − CI and CH3 − CI

37. Which reagent is called an electrophile in organic reaction? Write with

an example.

Watch Video Solution

https://dl.doubtnut.com/l/_BT7d6o0Kjttc
https://dl.doubtnut.com/l/_O87UqPzziozx
https://dl.doubtnut.com/l/_cWyXY6VHDs4l


Sloved Ncert Exercise

38. Write the IUPAC names of the compound

Watch Video Solution

CH2 = CHCH2CH2C ≡ CH&CH3CH = CHCH2C ≡ CH

1. What are hybridistion states of each C - atom in the compounds: 

(1)  


(2)  


 


(4)  


(5) ]

Watch Video Solution

CH2 = C = O

CH3CH = CH2

(CH3)2CO

CH2 = CHCN

[C6H6

2. Indicate the  bonds in the following molecules: 


(1)  


σ and π

C6H6

https://dl.doubtnut.com/l/_jbummSXT0ZyT
https://dl.doubtnut.com/l/_NzZy3MmabLfN
https://dl.doubtnut.com/l/_MtTt4A2kDDyw


(2)  


(3)  


(4)  


(5)  


(6) 

Watch Video Solution

C6H12

CH2CI2

CH2 = C = CH2

CH3NO2

HCONHCH3

3. Write bond line formulas for : 

(i) Isopropyl alcohol (ii) 2, 3-Dimethylbutanal (iii) Heptan-4-one

Watch Video Solution

4. Give the IUPAC names of the following compounds:

Watch Video Solution

CI2CHCH2OH

https://dl.doubtnut.com/l/_MtTt4A2kDDyw
https://dl.doubtnut.com/l/_R6Edwu1fiCPb
https://dl.doubtnut.com/l/_BiLKAyUYATrP


5. Which of the following represents the correct IUPAC name for the

compounds concerned? 

(1) 2,2 - dimethylpentane or 2 - demethylpentane 

(2) 2,4,7 - trimethyloctane or 2,5,7 - trimethyloctane 

(3) 2 - chloro - 4 - methylpentane or 4 - chloro - 2 - methyl - pentane 

(4) But - 3 - yne - 1 - ol - 1 - yne.

View Text Solution

6. Draw formulas for the first 5 members of each homologous series

beginning with given compounds: 

(1) HCOOH 

(2)  


(3) 

Watch Video Solution

CH3COCH3

H − CH = CH2

https://dl.doubtnut.com/l/_QHnRvaASov0Y
https://dl.doubtnut.com/l/_BV4BiRJpEI4E


7. Give condensed and bond line structural formulas and identify the

functional group(s) present, if any, for: 

(1) 2,2,4 - trimethylpentane 

(2) 2 - hydroxy - 1,2,3- propanetricarboxylic acid 

(3) Hexanedial

Watch Video Solution

8. Identify the functional groups in given compounds: 

View Text Solution

9. Which of the two:  is expected to be

more stable and why?

Watch Video Solution

O2NCH2CH2O
− or CH3CH2O

−

https://dl.doubtnut.com/l/_sXFDUQ5NzIz3
https://dl.doubtnut.com/l/_FmgOPikcyMBc
https://dl.doubtnut.com/l/_S2XSZQCcVjNF
https://dl.doubtnut.com/l/_mbuQOvc6RNwR


10. Explain why alkyl groups act as electron donors when attached to a 

system.

Watch Video Solution

π

11. Draw the resonante structures for the folloiwng compounds. Show the

elrcton shift using curvedarrow notation : 

(1)  


(2)  


(3)  


(4)  


(6) 

Watch Video Solution

C6H5OH

C6H5NO2

CH3CH = CHCHO

C6H5 −
⊕

CH2

CH3CH = CH
⊕

CH2

12. What are electrophiles and nucleophiles ? Explain with examples.

Watch Video Solution

https://dl.doubtnut.com/l/_mbuQOvc6RNwR
https://dl.doubtnut.com/l/_JrdqYdJAk1Tp
https://dl.doubtnut.com/l/_K1ILgLfvHcZY
https://dl.doubtnut.com/l/_jnBxbPhbzjs7


13. Identify the reagents underlined in the following equations as

nucleophiles or electrophiles: 

(1)  


(2)  


(3) 

Watch Video Solution

CH3COOH + HO––––
− → CH3COO

−H2O

CH3COCH3 +
Θ

CN → (CH3)
2
C(CN)(OH)

C6H6 + CH3

+

CO → C6H5COCH3

14. Classify the following reaction in one of the reacation type studied in

this unit. 

(1)  


(2)  


(3)  


(4) 

Watch Video Solution

CH3CH2Br + HS − → CH3CH2SH + Br−

(CH3)2C = CH2 + HCI → (CH3)2CCI − CH3

CH3CH2Br + HO− → CH2 = CH2 + H2O + Br−

(CH3)3C − CH2OH + HBr → (CH3)2CBrCH2CH2CH3 + H2O

https://dl.doubtnut.com/l/_jnBxbPhbzjs7
https://dl.doubtnut.com/l/_w7mVnstP98X5


15. What is the relationship between the members of following pairs of

strutures? Are they structural or geometrical isomers or resonance

contributors?

View Text Solution

16. For the given bond cleavages, use curved - arrows to show the electron

flow and classify each as homolysis or heterolysis. Identify reactive

intermediate produced as free radical, carbocation and carbanion. 

 


Watch Video Solution

CH3O − OCH3 → CH3

⋅
O +

⋅
OCH3

17. Explain the terms Inductive and Electromeric effects. Which electron

displacement effect explains the given correct orders of acidity of te

carboxylic acids? 

(1)  


(2) 

CI3CCOOH > CI2CHCOOH > CICH2COOH

CH3CH2COOH > (CH3)3CHCOOH > (CH3)3CCOOH

https://dl.doubtnut.com/l/_pfWf7bp3rGdv
https://dl.doubtnut.com/l/_3yjgfB9Qie60
https://dl.doubtnut.com/l/_Tcthk5RmQKRp


Watch Video Solution

18. Give a brief description of the principles of the following techniques

taking an example in each case. 

(1) Crystallisation 

(2) Distillation 

(3) Chromatography

Watch Video Solution

19. Describe the method, which can be used to separate 2 compounds with

different solubilities in a solvent S.

Watch Video Solution

20. What is the differecnce between distillation, distillation under reduced

pressure and steam distillation?

W t h Vid S l ti

https://dl.doubtnut.com/l/_Tcthk5RmQKRp
https://dl.doubtnut.com/l/_G1WWlkRYnHk3
https://dl.doubtnut.com/l/_OGsWfcxUnYtK
https://dl.doubtnut.com/l/_XtG2ynwIYR1F


Watch Video Solution

21. Discuss the chemistry of Lassaigne's test.

Watch Video Solution

22. Explain the principal of paper chromatography.

Watch Video Solution

23. Why is nitric acid added to sodium extract before adding silver nitrate

for testing halogens?

Watch Video Solution

24. Explain the reason for the fusion of an organic compound with metallic

sodium for testing nitrogen, sulphur and halogens.

Watch Video Solution

https://dl.doubtnut.com/l/_XtG2ynwIYR1F
https://dl.doubtnut.com/l/_eQrEApVmut6w
https://dl.doubtnut.com/l/_aIA5F8o4gmfM
https://dl.doubtnut.com/l/_dlFmTUkEEiU7
https://dl.doubtnut.com/l/_bv5wjiGz66zs


Watch Video Solution

25. Name a suitable technique to sepatate the components from a mixture

of calcium sulphate & camphor.

Watch Video Solution

26. Explain, why an organic liquid vaporise at a temprature below its boiling

point in its steam distillation?

Watch Video Solution

27. Will  give white precipitate of AgCI on heating it with silver nitrate?

Give reason for your answer.

Watch Video Solution

CCI4

https://dl.doubtnut.com/l/_bv5wjiGz66zs
https://dl.doubtnut.com/l/_sjaxrWOOWPfj
https://dl.doubtnut.com/l/_XjLFOmHcXaW3
https://dl.doubtnut.com/l/_FSrC3ePszzc0


28. Why is a solution of potassium hydroxide used to absorb carbon dioxide

evoled during the estimation of carbon present in an organic compound?

Watch Video Solution

29. Why is it necessary to use acetic acid and not sulphuric acid for

acidification of sodium extract for testing sulphur by lead acetate test?

Watch Video Solution

30. An organic compound contains  carbon and  hydrogen, the

remainder being oxygen. Calculate the masses of  and water produced

when  of this substance is subjected to complete combustion.

Watch Video Solution

69 % 4.8 %

CO2

0.20g

https://dl.doubtnut.com/l/_EzBw7qvJTo2W
https://dl.doubtnut.com/l/_WMIEM0CL2lkM
https://dl.doubtnut.com/l/_ftGJh4szjYA4


31. 0.05g of an organic compound was treated according to Kjedahl's

method. Ammonia evoled was absorbed in 50ml of 0.05 (M) . The

residual acid required 60 ml 0.5 (M) solution of NaOH for neutralisation.

Find the percentage composition of N in the compound.

Watch Video Solution

H2S)4

32. 0.3780 g of an organic chloro compound gave 0.5740 g of silver chloride

in Carius estimation. Calculate the percentage of chlorine present in the

compound.

Watch Video Solution

33. In the estimation of S by Carius method, 0.468 g of an organic sulphur

compound afforded 0.68g barium sulphate. Find out the  of S in the

given compound.

Watch Video Solution

%

https://dl.doubtnut.com/l/_ysSoaq7Q7I6k
https://dl.doubtnut.com/l/_Slk3qD91CCwt
https://dl.doubtnut.com/l/_7SL1uacpCG2W


34. In , the pair of hybridised orbitals

involved in the formation of  bond is: 


(1)  


(2)  


(3)  


(4) 

Watch Video Solution

CH2 = CHCH2CH2C ≡ CH

C2 − C3

sp − sp2

sp − sp3

sp2 − sp3

sp3 − sp3

35. In the Lassaigne's test, prussian blue colour is obtained due to

formation of 

(1)  


(2)  

(3)  


(4) 

Watch Video Solution

Na4[Fe(CN)6]

Fe4[Fe(CN)6]3

Fe2[Fe(CN)6]

Fe3[Fe(CN)6]4

https://dl.doubtnut.com/l/_NsB1tyIjuIex
https://dl.doubtnut.com/l/_TTZK03EoJzxu


36. Which is most stable: 

(1)  


(2)  


(3)  


 ?

Watch Video Solution

(CH3)
3
C

+

CH2

(CH3)3

+

C

CH3CH2

+

CH2

CH3

+

CHCH2CH3

37. The best and latest technique for isolation, purification and sepration

and separation of organic compounds is : 

(1) Crystallisation 

(2) Distillatiaon 

(3) Sublimation 

(4) Chromatography

Watch Video Solution

https://dl.doubtnut.com/l/_mjqGannjZtIp
https://dl.doubtnut.com/l/_dSO0iNDqdxNu


Higher Order Thinking Skill Hots Question

38. The reaction:  is a type

of : 

(1) electrophillic substitution 

(2) nucleophillic substitution 

(3) elimination 

(4) addition.

Watch Video Solution

CH3CH2I + KOH(aq) → CH3CH2OH + KI

1. Depict the bonding in the following compounds in terms of atomic

orbitals involed and predict all the bond angles: 

(1)  


(2) CH_(3)OCH_(3)`

Watch Video Solution

CD3CH = CH2

https://dl.doubtnut.com/l/_G0woTVHxxFdx
https://dl.doubtnut.com/l/_CCPnnb0gx5gW
https://dl.doubtnut.com/l/_pwum2KWXHMWF


2. Mention the number of primary , secondary  and tertiary 

hydrogen atoms in the following molecules: 

View Text Solution

(1∘ ) (2∘ ) (3∘ )

3. How many alkyl groups can be derived from the alkane,

 and why? Write their IUPAC names.

Watch Video Solution

(CH3)2CHCH2CH(CH3)2

4. Write the IUPAC names of the following compounds: 

View Text Solution

5. Arrange the given carbocations in order of increasing stability and

explain the order: 

https://dl.doubtnut.com/l/_pwum2KWXHMWF
https://dl.doubtnut.com/l/_wwOYJpsPvJfs
https://dl.doubtnut.com/l/_aufWfA0L35Xv
https://dl.doubtnut.com/l/_3BU07hZJvmwS


(##_Q01.png" width="80%"> 

Watch Video Solution

CH2 = CH −
⊕

CH2(II), CH3

⊕

CH2(III), CF3

⊕

CH2(IV )

6. tert - Butyl chloride  does not participate in  reaction -

explain with reasons.

Watch Video Solution

(Me3CCI) S2
N

7. Write the resonance strucrures of  and compare

their stabilities.

Watch Video Solution

CH2 = CH − CHO

8. Which is more stable and why: ?

Watch Video Solution

(CH3)3

⊕

C, (CD3)3

⊕

C

https://dl.doubtnut.com/l/_3BU07hZJvmwS
https://dl.doubtnut.com/l/_lpyHY1kmGOWJ
https://dl.doubtnut.com/l/_timT7FaGMjJ0
https://dl.doubtnut.com/l/_Epi4ar31UcD9


9. (1) How many stereoisomers of formula,  would be possible if

methane was a pyramid with a rectangular base? Draw them. 

(2) How many stereoisomers of formula,  would be possible if

methane was a pyramid with a square base? Draw them. 

(3) What is the relationship (diastereoisomers, enantiomers, conformational

isomers, homomers i.e., identical structures or constiturional isomers)

between the members of given pairs of structures? 

View Text Solution

CH3Y

CH2Y Z

10. Although florine is more electonegative than chlorine, fluorobenzene has

lower dipole moment  than chlorobenzene .

Watch Video Solution

(μ = 1.63D) (μ = 1.75D)

11. The posatively charged carbon atom in structure (I) is  - hybridised

while the negatively charged carbon atom in (II) is  - hybridised - Explain. 


sp2

sp3

https://dl.doubtnut.com/l/_Skwvr8s6GhUY
https://dl.doubtnut.com/l/_9lZDxZxeeKPI
https://dl.doubtnut.com/l/_n5ZYuF0qOmMp


Watch Video Solution

12. Can you separate two liquids A (b. p. 413K) and B (b. p. 403K) present in a

mixture by simple distillation?

Watch Video Solution

13. Will  give white precipitate of AgCI on heating it with silver nitrate

solution? Give reason for your answer.

Watch Video Solution

CCI4

14. Is it possible to distinguish between phenylhydrazine hydrochloride and

hydrazine hydrochloride by Lassigne's test? Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_n5ZYuF0qOmMp
https://dl.doubtnut.com/l/_65cV4N3mGZyz
https://dl.doubtnut.com/l/_k1evnO9Ngpoi
https://dl.doubtnut.com/l/_zIovqgkbVuYb
https://dl.doubtnut.com/l/_U1StNwdcLi4X


15. Explain the principles of adsorption chromatography and partition

chromatography. Define  value. What is called descending paper

chromatography?

Watch Video Solution

Rf

16. Tendency of carbon to exhibit catenation is much higher than that of Si

and S - why?

Watch Video Solution

17. Melting and boiling points of organic compounds are usually very low -

Why?

Watch Video Solution

https://dl.doubtnut.com/l/_U1StNwdcLi4X
https://dl.doubtnut.com/l/_05WQuq8x8xfw
https://dl.doubtnut.com/l/_mwBLKXtkvV3T


18. Mention the number of primary , secondary  tertiary  and

quarternary  C - atoms present in the given molecules: 


View Text Solution

(1∘ ) (2∘ ) (3∘ )

(4∘ )

19. Write down the IUPAC name of a hydrocarbon having a  C - atom with

molecular formula,  . How many monobromo derivaties of this

hydrocarbon is possible? Write their structures.

Watch Video Solution

4∘

C6H14

20. Racemic tartaric acid and meso - tartaric acid are both optically inactive -

why?

Watch Video Solution

https://dl.doubtnut.com/l/_gIrkCGoQugTu
https://dl.doubtnut.com/l/_74sR1BXkAl1I
https://dl.doubtnut.com/l/_vNbyLQx3wB8e


21. How many isomers of butene are possible? What type of isomerism do

they exhibit?

Watch Video Solution

22. Give examples of : 

(1) an optically inactive compound cantaining asymmertic carbon atom, 

(2) an optically active compound containing no asymmetric carbon.

Watch Video Solution

23. Name a compound having two similar asymmetric carbon atoms and

give its structure. What type of isomerism does it exhibit? Draw Fischer

projection formulas of these isomers and comment on their optical activity.

How are they related to each other?

Watch Video Solution

https://dl.doubtnut.com/l/_Guaiv7D7u954
https://dl.doubtnut.com/l/_UtV2iN4xvyFa
https://dl.doubtnut.com/l/_wihy04IFD7XY
https://dl.doubtnut.com/l/_0qsAsYFncmSU


24. (1) Give structure and IUPAC name of an optically active alkane having

lowest molecular mass. Is there another alkane of the same molecular mass

that is also optically active? 

(2) Give example of a compound which exhibits both optical & geometrical

isomerism.

Watch Video Solution

25. The following two isomers may be called diastereoisomers but not

enantiomers - why? Explain why these are optically inactive. 

View Text Solution

26. P - nitrophenol is more acidic than phenol. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_0qsAsYFncmSU
https://dl.doubtnut.com/l/_9zsDKRRSbqYh
https://dl.doubtnut.com/l/_9rwXbH5WSNUi


27. P - nitroanilin is a weaker base than aniline. Explain.

Watch Video Solution

28. Dipole moment of vinyl chloride  is less than the dipole

moment of ethyl chloride  - explain.

Watch Video Solution

(CH2 = CHCI)

(CH3CH2CI)

29. Arrange the following ions in order of increasing basicity and explain the

order: 

Watch Video Solution

CH3

⊕

CH2(I),  CH ≡
⊕

C(II),   CH2 =
⊕

CH(III)

30. Give example: 

(1) a non - nuclephilic anion 

https://dl.doubtnut.com/l/_XasEaPGN3kjw
https://dl.doubtnut.com/l/_sYpWnsQ8pLBG
https://dl.doubtnut.com/l/_SxiyrIry0vNI
https://dl.doubtnut.com/l/_CFSrUO5TAT6O


(2) a planar carbocation 

(3) an aromatic carbocation 

(4) an aromatic carbanion 

(5) a reagent which acts as source of carbanion 

(6) a reaction which does not proceed through intermediate 

(7) an aprotic polar solvent 

(8) an ambident nucleophile 

(9) a neutral electrophile 

(10) a group which stabilises a carbocation 

(11) a group which stabilies a carbanion 

(12) an alkyl group whcih does not supply electrons to a double bond by

hyperconjugation 

(13) a carbocation which can be stored for years.

View Text Solution

31. Explain the given basicity order in aqueous medium: 

View Text Solution

(CH3)2

⋅ ⋅
NH(2∘ ) > CH3

⋅ ⋅
NH2(1∘ ) > (CH3)3

⋅ ⋅
N(3∘ )

https://dl.doubtnut.com/l/_CFSrUO5TAT6O
https://dl.doubtnut.com/l/_2k850vNmtBXj


32. Which of the two:  is expected to be

more stable and why?

View Text Solution

O2NCH2CH2O
Θ or CH3CH2O

Θ

33.  undergoes hydrolysis more easily than . Explain.

Watch Video Solution

CH3CI C6H5CI

34. Benzyl chloride participates in  reaction even through it is a primary

 substrate. Explain.

Watch Video Solution

SN1

(1∘ )

35. Bond dissociation enthalpy of  - H bond is much less than 

 - H bond. Explain.

C6H5CH2

CH3

https://dl.doubtnut.com/l/_2k850vNmtBXj
https://dl.doubtnut.com/l/_rjxpg2IfpJ1p
https://dl.doubtnut.com/l/_GimGDq9PfWfX
https://dl.doubtnut.com/l/_Pm158cW32Gd7
https://dl.doubtnut.com/l/_ulM406ZuOiKF


Watch Video Solution

36. N,N,2,6 - Tetramethylaniline is more basic than N,N - dimethylaniline.

Explain.

Watch Video Solution

37. Chloroform is more acidic than fluoroform. Explain.

Watch Video Solution

38. How can you separate benzoic acid and nitro benzene from their mixture

by the technique of extraction using an approprite chemical reagent?

Watch Video Solution

https://dl.doubtnut.com/l/_ulM406ZuOiKF
https://dl.doubtnut.com/l/_SqYKaBOmEkfT
https://dl.doubtnut.com/l/_F5zeadqNna5u
https://dl.doubtnut.com/l/_mZHa12pmdEYW


39. How will you separate benzyl alcohol (neutral) and phenol (acidic) from

their mixed solution in ether by extraction using an appropriate chemical

reagent?

View Text Solution

40. Why is impure glycerol purified by distillation under reduced pressure?

Watch Video Solution

41. Why is it necessary to use acetic acid and not sulphuric acid for

acidification of sodium extract for testing sulphur by lead acetate test?

Watch Video Solution

42. Preence of N is hydroxylamine hydrochloride cannot be detected by

Lassaigne's test - why?

https://dl.doubtnut.com/l/_iuM7eqbah4iO
https://dl.doubtnut.com/l/_MjutnfD0SS6u
https://dl.doubtnut.com/l/_7yyCHt3Tdd7U
https://dl.doubtnut.com/l/_kGHyEB2DXS1x


Entrance Question Bank Wbjee

Watch Video Solution

43. How can it be possible to detect the presence of nitrogen in hydrazine

hydrochloride?

Watch Video Solution

1. The ease of dehydrohalogenation of akyl halide with alcohloic KOH is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3∘ < 2∘ < 1∘

3∘ > 2∘ > 1∘

3∘ < 2∘ > 1∘

3∘ > 2∘ < 1∘

https://dl.doubtnut.com/l/_kGHyEB2DXS1x
https://dl.doubtnut.com/l/_oKH00T1qodQR
https://dl.doubtnut.com/l/_HtmwWMEAXEQR


Entrance Question Bank

1. Which will exhibit optical isomerism-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HO −

H

∣

C
∣

H

− CO2H

H3C −

H

∣

C
∣

OH

− CO2H

H3C −

CH3

∣

C
∣

H

− COOH

H3C −

CH3

∣

C
∣

CI

− CO2H

2. Which of the following is sec - butyl pheyl vinyl methane-

https://dl.doubtnut.com/l/_HtmwWMEAXEQR
https://dl.doubtnut.com/l/_mEBj64eZ2zAx
https://dl.doubtnut.com/l/_TCyT83BTAzdN


View Text Solution

3. The correct states of hybridisation of  in compound 

 are-

A. 

B. 

C. 

D. sp , sp

Answer: B

Watch Video Solution

C2 and C3

H3C − CH = CH − CH3

sp, sp3

sp2, sp

sp2, sp2

4. Under identical conditions, the  reaction will occur most efficiently

with -

A. tert - butyl chloride

SN1

https://dl.doubtnut.com/l/_TCyT83BTAzdN
https://dl.doubtnut.com/l/_8i55vV0BHfrt
https://dl.doubtnut.com/l/_NrGhjKNgXAEX


B. 1 - chlorobutane

C. 2 - methyl - 1 - chloropropane

D. 2 - chlorobutane

Answer: A

View Text Solution

5. Which one of the following characteristics belongs to an electrophile-

A. it is any species having electron definiency which reacts at an electron

rich C - centre

B. it is may species having electron enrichment, that reacts at an

electron defcient C - centre

C. it is cationic in nature

D. it is anionic in nature

Answer: A

https://dl.doubtnut.com/l/_NrGhjKNgXAEX
https://dl.doubtnut.com/l/_Pc7UFONAqA2Q


Watch Video Solution

6. The most stabl enol tautomer of  Et is-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MeCOCH2CO2

CH2 = C(OH)CH2CO2Et

MeC(OH) = CHCO2Et

MeCOCH = C(OH)OEt

CH2 = C(OH)CH = C(OH)OEt

7. Order of stability of the carbocations:

is-

A. 

ph2

⊕

CCH2Me(I),  phCH2CH2

⊕

CHph(II),  ph2CH
⊕

CHMe(III) and ph2

(IV ) > (II) > (I) > (III)

https://dl.doubtnut.com/l/_Pc7UFONAqA2Q
https://dl.doubtnut.com/l/_VFpUIBUEwfnH
https://dl.doubtnut.com/l/_jvvORJS4texF


B. 

C. 

D. 

Answer: B

Watch Video Solution

(I) > (II) > (III) > (IV )

(II) > (I) > (IV ) > (III)

(I) > (IV ) > (III) > (II)

8.  is stable than because-

A. inductive effect of Me - group.

B. resonance effect of Me - group.

C. hyperconjugative effect of Me - group.

D. resonance and indutive effects of Me - grouo.

Answer: C

Watch Video Solution

MeCH2CH = CH2 Me2C = CH2

https://dl.doubtnut.com/l/_jvvORJS4texF
https://dl.doubtnut.com/l/_UxOlGaEWz4K6
https://dl.doubtnut.com/l/_DZwZc44BkJNX


9. (+) and (-) - Lactic acid have the same molecular formula, . They

are related as-

A. structural isomers

B. geometric isomers

C. optical isomers

D. homomers

Answer: C

Watch Video Solution

C3H6O3

10. Which of the following statement is correct for 2 - butene-

A. the  bond is an  - bond

B. the  bond is an  - bond

C. the  bond is an  - bond

D. the  bond is an  - bond

C1 − C2 sp3 − sp3σ

C2 − C3 sp3 − sp2σ

C1 − C2 sp3 − sp2σ

C1 − C2 sp2 − sp2σ

https://dl.doubtnut.com/l/_DZwZc44BkJNX
https://dl.doubtnut.com/l/_9WK9QzH3N5VF


Answer: C

Watch Video Solution

11. Basicity of aniline is less than methyl amine, because-

A. hyperconjugative effect of Me - group in 

B. resonance effect of phenyl group in aniline

C. molar mass of methylamine is less than that of aniline

D. resonance effect of Me - group in 

Answer: B

Watch Video Solution

MeNH2

MeNH2

12. Tautomerism is exhibited by-

A. (Me3CCO)3CH

https://dl.doubtnut.com/l/_9WK9QzH3N5VF
https://dl.doubtnut.com/l/_pfoTgwetQqpV
https://dl.doubtnut.com/l/_iLdVIw1aVkzD


B. 

C. 

D. 

Answer: A,B,D

View Text Solution

13. Amongst the following, the one which can exist in free state as a stable

compound is-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C7H9O

C8H12O

C6H11O

C10H17O2

https://dl.doubtnut.com/l/_iLdVIw1aVkzD
https://dl.doubtnut.com/l/_PDPkqSJook4W


14. Correct pair of compounds which gives blue colouration/ precipitate and

white precipitate, respectively, when their Lassaigne's test is separately

done is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

NH2NH2 ⋅ HCI and CICH2COOH

NH2CSNH2 and phCH2CI

NH2CSNH2 and phCH2CI

15. The IUPAC name of the compound X is- 

A. 4 - cyano - 4 - methyl - 2 - oxopentane

https://dl.doubtnut.com/l/_PDPkqSJook4W
https://dl.doubtnut.com/l/_2bBJHb4uIwds
https://dl.doubtnut.com/l/_QqEasODyOwLO


B. 2 - cyano - 2 - methyl - 4 - oxopentane

C. 2,2 - dimethyl - 4 - oxopentanenitrile

D. 4 - cyano - 4 - methyl - 2 - pentanone

Answer: C

View Text Solution

16. The optically active molecule is-

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_QqEasODyOwLO
https://dl.doubtnut.com/l/_p4zzg5rBrsNa
https://dl.doubtnut.com/l/_5nPSjMrjzan6


17. (+) - 2 - chloro - 2 - phenylethane in toluene racemises slowly in the

presence of small amount of , due of the formation of-

A. carbanion

B. carbene

C. free - radical

D. carbocation

Answer: D

Watch Video Solution

SbCI5

18. The order of decreasing ease of abstraction of hydrogen atoms in the

following molecule is- 

A. 

B. 

Ha > Hb > Hc

Ha > Hc > Hb

https://dl.doubtnut.com/l/_5nPSjMrjzan6
https://dl.doubtnut.com/l/_E0ijHKA6Zoyf


C. 

D. 

Answer: B

View Text Solution

Hb > Ha > Hc

Hc > Hb > Ha

19. The most likely protonation site in the given molecule is- 

A. C - 1

B. C - 2

C. C - 3

D. C - 6

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_E0ijHKA6Zoyf
https://dl.doubtnut.com/l/_dovZGZbJECn9
https://dl.doubtnut.com/l/_eYUCDYoS5I9S


20. The 4 - th higher homologue of ethane is-

A. butane

B. pentane

C. hexane

D. heptane

Answer: C

Watch Video Solution

21. Among the following structures the one which is not a resonating

structure of other is- 

 

 

 

A. I

https://dl.doubtnut.com/l/_eYUCDYoS5I9S
https://dl.doubtnut.com/l/_hLzcqVsQbcbe


B. II

C. III

D. IV

Answer: D

View Text Solution

22. The correct order of decreasing length of the bond as indicated by the

arrow in the following structures is- 

 

 

 

A. 

B. 

C. 

I > II > III

II > III > III

III > II > I

https://dl.doubtnut.com/l/_hLzcqVsQbcbe
https://dl.doubtnut.com/l/_uKcjdTzGONt9


D. 

Answer: C

View Text Solution

I > III > II

23. IUPAC name of the molecule, 

 is-

A. 5,6 - dimethylhept - 2 - ene

B. 2,3 - dimethylhept - 5 - ene

C. 5,6 - dimethylhept - 3 - ene

D. 5 - isopropylhex - 2 - ene

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_uKcjdTzGONt9
https://dl.doubtnut.com/l/_yu2zrzhiLGxt


24. The correct statement regarding the given compound is- 

 

 

A. all three compounds are chiral

B. only I and II are chiral

C. I and II are diastereomers

D. only I and III are chiral

Answer: D

View Text Solution

25. In the Lassaigne's test for the detection of nitrogen in an compound, the

appearance of blue coloured compound is due to-

A. ferric ferricyanide

https://dl.doubtnut.com/l/_oGHmX2beDgjN
https://dl.doubtnut.com/l/_I3DgqfdS4rfX


B. ferrous ferricyanide

C. ferric ferrocyanide

D. ferrous ferrocyanide

Answer: C

Watch Video Solution

26. The reaction of methyl trichoroacetate  with sodium

methoxide (NaOMe) generates-

A. carbocation

B. carbene

C. carbanion

D. carbon radical

Answer: B

Watch Video Solution

(CI3CCO2Me)

https://dl.doubtnut.com/l/_I3DgqfdS4rfX
https://dl.doubtnut.com/l/_e5O8b5wGfmUO


27. In a mixture, two enantiomers are found to be present in the amount of

85% and 15% respectively. The enantiomeric excess (e.e) is-

A. 0.85

B. 0.15

C. 0.7

D. 0.6

Answer: C

Watch Video Solution

28. In the following compound, the number of 'sp' hybridised carbon is

A. 2

B. 3

CH2 = C = CH − CH
∣

CN

− C ≡ CH −

https://dl.doubtnut.com/l/_e5O8b5wGfmUO
https://dl.doubtnut.com/l/_UtwwUQL4cPzc
https://dl.doubtnut.com/l/_cBFcxroSpbT6


C. 4

D. 5

Answer: C

Watch Video Solution

29. Which of the following statement is /are correct-

Watch Video Solution

30. The correct order of acid strenghts of benzoic acid (X), peroxyenzoic acid

(Y) and p - nitrobenzoic acid (Z) is-

A. 

B. 

C. 

D. 

Y > Z > X

Z > Y > X

Z > X > Y

Y > X > Z

https://dl.doubtnut.com/l/_cBFcxroSpbT6
https://dl.doubtnut.com/l/_ScwcXXqE1vwZ
https://dl.doubtnut.com/l/_K9LmjH6GWL0t


Answer: C

Watch Video Solution

31. In the IUPAC system,  is named as-

A. 3 - phenylpropanoic acid

B. benzylacetic acid

C. carboxyethlbezene

D. 2 - pheylpropanoic acid'

Answer: A

Watch Video Solution

PhCH2CH2CO2H

32. The major product (s) obtained in the reaction is/are- 

https://dl.doubtnut.com/l/_K9LmjH6GWL0t
https://dl.doubtnut.com/l/_E9dnxqzsGgTB
https://dl.doubtnut.com/l/_zEL5vV0yagnc


A. 

B. 

C. 

D. 

Answer: A,D

View Text Solution

33. The possible product (s) to be obtained from the reaction of cyclobuty

amine with  is/are-

A. 

B. 

C. 

D. 

Answer: A,C

HNO2

https://dl.doubtnut.com/l/_zEL5vV0yagnc
https://dl.doubtnut.com/l/_QMwq1LaLbI17


View Text Solution

34. Identify the compound that exhibits tautomerism-

A. lactic acid

B. 2 - pentanone

C. phenol

D. 2 - butene

Answer: B

Watch Video Solution

35. How many chiral compounds are possible on monochlorination of 2 -

methylbutane-

A. 2

B. 4

https://dl.doubtnut.com/l/_QMwq1LaLbI17
https://dl.doubtnut.com/l/_ikidKBHOuXQ4
https://dl.doubtnut.com/l/_6WdPeZMatB3R


C. 6

D. 8

Answer: A

Watch Video Solution

36. Which branched chain isomer of the hydrocarbon with molar mass 72u

gives only 1 monosubstituted alkyl halide-

A. neopentane

B. isohexane

C. neohexane

D. t - butly chloride

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6WdPeZMatB3R
https://dl.doubtnut.com/l/_HWRI6vfmyzCp
https://dl.doubtnut.com/l/_7o3TciiFqOnw


37. The order of stability of the following carbocation is- 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

III > I > II

III > II > I

II > III > I

I > II > III

38. Arrange the compounds in order of decreasing acidity- 

A. 

B. 

C. 

IV > III > I > II

II > IV > I > III

I > II > III > IV

https://dl.doubtnut.com/l/_7o3TciiFqOnw
https://dl.doubtnut.com/l/_nqfnLL2kTniX


D. 

Answer: D

View Text Solution

III > I > II > IV

39. A solution of (-) - 1 - chloro - 1 pheylethane in toluene raceimess slowly in

the presence of a small amount of , due of the formation of-

A. freee radical

B. carbanion

C. carbene

D. carbocation

Answer: D

Watch Video Solution

SbCI5

https://dl.doubtnut.com/l/_nqfnLL2kTniX
https://dl.doubtnut.com/l/_hVeoNyrR4oKA


40. In  reactions, the correct order of reactivity for the compounds: 

-

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

SN2

CH3CI, CH3CH2CI, (CH3)2CHCI and (CH3)3CCI

(CH3)2CHCI > CH3CH2CI > CH3CI > (CH3)3CCI

CH3CI > (CH3)2CHCI > CH3CH2CI > (CH3)3CCI

CH3CI > CH3CH2CI > (CH3)3CCI

CH3CH2CI > CH3CI > (CH3)2CHCI > (CH3)3CCI

41. For the estimation of nitrogen, 1.4 g of an organic compound was

digested by Kjeldahl method and the evoled ammonia was absorbed in 60

mL of M/10 sulphuric acid. The unreacted aicd required 20 mL of M/10

sodium hydroxide for complete neutralisation. The precentage of nitrogen

in the compound is-

https://dl.doubtnut.com/l/_UvyJII1UgtRV
https://dl.doubtnut.com/l/_kGwtTYlZ6RQj


A. 0.05

B. 0.06

C. 0.1

D. 0.03

Answer: C

Watch Video Solution

42. In Carius method of estimation of halogens, 250 g of an organic

compound gave 141 g AgBr. Precentage of Br in the compound

-

A. 48

B. 60

C. 24

D. 36

(Ag = 108, Br = 80)

https://dl.doubtnut.com/l/_kGwtTYlZ6RQj
https://dl.doubtnut.com/l/_5yD34cLBGCsu


Answer: C

Watch Video Solution

43. Which of the following compounds will exhibit geometrical isomersim-

A. 2 - phenyl - 1 - butene

B. 1,1 - diphenyl - 1 - propene

C. 1 - phenyl - 2 - butene

D. 3 - phenyl - 1 - butene

Answer: C

Watch Video Solution

44. The increasing order of  reactivity of the following compounds is- 


, 


SN1

CH3C
∣

CI

HCH2CH3

https://dl.doubtnut.com/l/_5yD34cLBGCsu
https://dl.doubtnut.com/l/_uV1mtt8VNjuV
https://dl.doubtnut.com/l/_oYbESVw6XX9b


, 


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH2CH2CI

p − CH3O − C6H4 − CH2CI

(I) < (III) < (II)

(II) < (III) < (I)

(III) < (II) < (I)

(II) < (I) < (III)

45. The resonance stability is minimum for the compound-

A. 

B. 

https://dl.doubtnut.com/l/_oYbESVw6XX9b
https://dl.doubtnut.com/l/_KxcUNlq5hK46


C. 

D. 

Answer: B

Watch Video Solution

46. Which of the following compounds will be suitable for Kjedahl's method

of nitrogen estimation-

A. 

B. 

https://dl.doubtnut.com/l/_KxcUNlq5hK46
https://dl.doubtnut.com/l/_xBokwSAOlT7j


C. 

D. 

Answer: D

Watch Video Solution

47. The increasing order of basicity of the following compounds is-

A. 

B. 

C. 

D. 

(b) < (a) < (d) < (c)

(d) < (b) < (a) < (c)

(a) < (b) < (c) < (d)

(b) < (a) < (c) < (d)

https://dl.doubtnut.com/l/_xBokwSAOlT7j
https://dl.doubtnut.com/l/_08VcWounV0hZ


Answer: A

Watch Video Solution

48. Consider the reactions: (i)

 


(ii) 

 


The mechanism of reactions (i) and (ii) are respectively-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(CH3)2CH − CH2Br
C2H5OH
−−−−→ (CH3)2CH − CH2OC2Hd5 + Br−

(CH3)2CH − CH2Br
C2H5O

−

−−−−→ (CH3)2CH − CH − (2)OCH2H5 + Br−

SN1 and SN2

SN1 and SN1

SN2 and SN2

SN2 and SN1

https://dl.doubtnut.com/l/_08VcWounV0hZ
https://dl.doubtnut.com/l/_4nGOVe2Zqids
https://dl.doubtnut.com/l/_tXURUbz0tNWo


49. Which undergoes nucleophilic substitution most easily-

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_tXURUbz0tNWo


Answer: A

Watch Video Solution

50. IUPAC name of the compound, 

A. trans - 2 - chloro - 3 - iodo - 2 - pentene

B. cis - 3 - indo - 4 - chloro - 3 - pentene

C. trans - 3 - iodo - 4 - chloro - 3 - pentene

D. cis - 2 - chloro -- 3 - iodo - 2 - pentene

Answer: A

View Text Solution

51. Considering the state of hybridisation of C - atoms, which one among

the following is linear-

https://dl.doubtnut.com/l/_tXURUbz0tNWo
https://dl.doubtnut.com/l/_XtiPX0euT8AS
https://dl.doubtnut.com/l/_mPjL8P8okwI7


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CH2 − CH2 − CH3

CH3 − CH = CH − CH3

CH3 − C ≡ C − CH3

CH2 = CHCH2C ≡ CH

52. Which is a nucleophilic substitution reaction-

A. 

B. 

C. 

D. 

Answer: D

CH3CHO + HCN → CH3CH(OH)CN

CH3 − CH = CH2 + H2O
H +

−−→ CH3 − CH(OH)CH3

RCHO + R'MgX → R − CH(OH)R'

CH3CH2CH(CH3)CH2Br + NH → CH3CH2CH(CH3)CH2NH2

https://dl.doubtnut.com/l/_mPjL8P8okwI7
https://dl.doubtnut.com/l/_2HHbkmR4FLI1


Watch Video Solution

53. Which is most reactive towards an electrophilic reagent-

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

54. The correct order or increasing bond length C - H , C - O , C - C and C = C

is-

A. 

B. 

C − H < C − O < C − C < C = C

C − H < C = C < C − O < C − C

https://dl.doubtnut.com/l/_2HHbkmR4FLI1
https://dl.doubtnut.com/l/_GNjNAFkiqsKq
https://dl.doubtnut.com/l/_Uj1EyWC3dKxI


C. 

D. 

Answer: B

View Text Solution

C − C < C = C < C − O < C − H

C − O < C − H < C − C < C = C

55.  


What sort of reaction is it-

A. electrophilic addition - elimination reaction

B. free radical addition - elimination reaction

C. electrophilic substitution - elimination reaction

D. nucleophilic addition - elimination reaction

Answer: D

Watch Video Solution

RCHO + NH2NH2 → RCH = N − NH2

https://dl.doubtnut.com/l/_Uj1EyWC3dKxI
https://dl.doubtnut.com/l/_BzxSVb3dZj3g
https://dl.doubtnut.com/l/_YJruiC35TSvw


56. Which of the following acids do not exhibit optical isomerism-

A. malic acid

B.  - amino acids

C. lactic acid

D. tataric acid

Answer: A

Watch Video Solution

α

57. The correct order of decreasing acid strenght of trichloroacetic acid (I),

trifluoroacetic acid (II), acetic acid (III) and formic acid (IV) is-

A. 

B. 

C. 

D. 

II > I > IV > III

II > IV > III > I

I > II > III > IV

I > III > II > IV

https://dl.doubtnut.com/l/_YJruiC35TSvw
https://dl.doubtnut.com/l/_34VUpI1J609Y


Answer: A

Watch Video Solution

58. Which nomeclature is not according to IUPAC system-

A. 

B. 

C. 

D. ("4 - bromo - 2,4 -

dimethylhexane")

Answer: C

Watch Video Solution

CH3 − COCH2CH2CH2COOH(5-oxohexanoic acid)

Br − CH2 − CH = CH2(1-bromoprop - 2 - ene)

CH3 − CH2 −

CH3

∣

C
∣

Br

− CH2 − CHCH3

https://dl.doubtnut.com/l/_34VUpI1J609Y
https://dl.doubtnut.com/l/_qDdqFzUvUIqn


59. Stucture of the compound whose IUPAC name is 3 - ethyl - 2 - hydroxy - 4

- methylhex - 3 - ene - 5 - ynoic acid is-

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

60. Structure of isobutyl group in an organic compound is-

A. 

B. 

C. 

CH3 −

CH3

∣

C
∣

CH3

−

CH3 − C
∣
H − CH2 − CH3

https://dl.doubtnut.com/l/_3poquCPKOxSo
https://dl.doubtnut.com/l/_Ib7P15cEIeWQ


D. 

Answer: B

Watch Video Solution

CH3 − CH2 − CH2 − CH2 −

61. The order of stability of the following tautomeric forms is-

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

II > III > I

I > II > III

III > II > I

II > I > III

https://dl.doubtnut.com/l/_Ib7P15cEIeWQ
https://dl.doubtnut.com/l/_AaK42UI5MrWl


62. Which of the following compounds will undergo racemisation when

solution of KHO hydrolyses- 

(I)  

(II)  


(III)  


A. I and II

B. II and IV

C. III and IV

D. I and IV

Answer:

View Text Solution

CH3CH2CH2CI

H3C −

CH3

∣

C H − CH2CI

https://dl.doubtnut.com/l/_AaK42UI5MrWl
https://dl.doubtnut.com/l/_cTRao0EERAv0


63. Most reactive towards nucleophilic addition reaction is-

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

64. In the Kjeldahl's methodd for estimation of nitrogen present in a soil

sample, ammonia evoled from 0.75 g of sample netralised 10 mL of

. The precentage of nitrogen in the soil is-

A. 37.33

B. 45.33

C. 35.33

1MH2SO4

https://dl.doubtnut.com/l/_zGZiQoNUY0sx
https://dl.doubtnut.com/l/_sKxUNnucmP7c


D. 43.33

Answer: A

Watch Video Solution

65. The number of structural isomers possible from the molecular formula

 is-

A. 4

B. 5

C. 2

D. 3

Answer: A

Watch Video Solution

C3H9N

https://dl.doubtnut.com/l/_sKxUNnucmP7c
https://dl.doubtnut.com/l/_OhPCrxA6lH9U


66. In an SN1 reaction on centres there is

A. 100% racemisation

B. inversion more than ratention leading to partial recemisation

C. 100% retention

D. 100% inversion

Answer: B

Watch Video Solution

67. Which of the following statements is not correct for a nuclephile-

A. nucleophile is a Lewis acid

B. ammonia is a nucleophile

C. nucleophile attack low electrons density sites

D. nucleophilic are not electron seeking

https://dl.doubtnut.com/l/_fG2nB5dejDuJ
https://dl.doubtnut.com/l/_acmAa6GrLBoF


Answer: A,B,C

Watch Video Solution

68. Two possible stereo - structures of , which are

optically active, are called-

A. diastereomers

B. atropisomers

C. enantiomers

D. mesomers

Answer: C

Watch Video Solution

CH3CHOH ⋅ COOH

69. In which of the following molecules, all the atoms are coplanar-

https://dl.doubtnut.com/l/_acmAa6GrLBoF
https://dl.doubtnut.com/l/_0JPFgUC78Wls
https://dl.doubtnut.com/l/_oqo3jU1AaJlK


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

70. The correct order of acid strenghts of the given carboxylic acid is- 

A. 

B. 

C. 

D. 

II > I > III

I > II > III

II > III > I

III > II > I

https://dl.doubtnut.com/l/_oqo3jU1AaJlK
https://dl.doubtnut.com/l/_BpaESeWMDfBp


Answer: C

View Text Solution

71. Which among the given molecules can exhibit tautomerism- 

A. both I and III

B. both I and II

C. both II and III

D. III only

Answer: D

View Text Solution

72. Which of the following biphenyl is optically active-

https://dl.doubtnut.com/l/_BpaESeWMDfBp
https://dl.doubtnut.com/l/_bhSKhGOuxzFi
https://dl.doubtnut.com/l/_DOn0DM8Bc1Ue


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

73. The pair of electrons in the given carbanion is present in which of the

following orbitals- 

A. sp

B. 2p

C. 

D. 

Answer: A

CH3 − C

Θ
⋅ ⋅
C

sp3

sp2

https://dl.doubtnut.com/l/_DOn0DM8Bc1Ue
https://dl.doubtnut.com/l/_k6b1yol03s3u


Watch Video Solution

74. The correct statement about the basicity of aryl amines is-

A. aryl amines are in genral more basic than alkyl amines because the N -

atom in aryl amines is sp - hybridised

B. aryl amines are in genral less basic than alkl amines because the

unshared pair of electrons on nitrogen in aryl amines undergoes

effective delocalisation with the ring  - electrons

C. aryl amines are in genral more basic than alkyl amines because the

unshared pair of electrons on nitrogen in aryl amines does not

undergo delocalisation with the ring  - electrons

D. aryl amines are more basic than alkyl amines due to the pressure of

aryl groups

Answer: B

Watch Video Solution

π

π

https://dl.doubtnut.com/l/_k6b1yol03s3u
https://dl.doubtnut.com/l/_tEensWBdskKQ


Watch Video Solution

75. (a)  

(b)  

( c )  

Which one of the following statements for the given reactions is correct -

A. (a) is a substitution reaction but (b) and ( c ) are addition reactions.

B. (a) and (b) are elimination reactions, but ( c ) is an addtion reaction.

C. (a) is an elimination reaction, (b) is a substution reaction and ( c ) is

an addition reaction.

D. (a) is an elimination reaction, but (b) and ( c ) are substitution

reactions

Answer: C

View Text Solution

CH3CH2CH2Br + KHO → CH3CH = CH2 + KBr + H2O

https://dl.doubtnut.com/l/_tEensWBdskKQ
https://dl.doubtnut.com/l/_FqhokMrAhVHq


76. The IUPAC name of the compound 

A. 5 - formylhex - 2 - ene - 3 - one

B. 5 - methyl - 4 oxohex - 2 - en - 5 - al

C. 3 - keto - 2 - methylhex - 5 - enal

D. 3 - keto - 2 - methylhex - 4 - enal

Answer: D

View Text Solution

77. Which one is the most acidic compound-

A. 

https://dl.doubtnut.com/l/_KcTwo1pQvEkR
https://dl.doubtnut.com/l/_ff03HZvLO3BV


B. 

C. 

D. 

Answer: C

Watch Video Solution

78. The most suitable method of separation of 1 : 1 mixture of ortho and

para - nitrophenols is-

https://dl.doubtnut.com/l/_ff03HZvLO3BV
https://dl.doubtnut.com/l/_9vjZSHriaOZA


A. chromatography

B. crystallisation

C. steam distillation

D. sublimation

Answer: C

Watch Video Solution

79. The correctr statement regarding electrophile is-

A. electrophile is a negatively charged species and can form a bond by

accepting a pair of electrons from another electrophile

B. electrophiles are generally neutral speices and can form a bond by

accepting a pair of electrons from a nucleophile

C. electrophiles can be either neutral of postively charged speices and

can from a bond by accepting a pair of electrons from a nucleophile

https://dl.doubtnut.com/l/_9vjZSHriaOZA
https://dl.doubtnut.com/l/_HnbOCrjMQvkE


D. electrophile is a negatively charged species and can form a bond

accepting a pair of electrons from a nucleophile

Answer: C

View Text Solution

80. Which of the following is correct with respect to -I effect of the

subsitunets (R = alkyl) -

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−NR2 > − OR > − F

−NH2 > − OR < − F

−NH2 > − OR > − F

−NR2 < − OR < − F

https://dl.doubtnut.com/l/_HnbOCrjMQvkE
https://dl.doubtnut.com/l/_Z3G8TGBXuctA
https://dl.doubtnut.com/l/_fOUyaVptMc2L


81. Which of the following carbocations is expected to be most stable-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_fOUyaVptMc2L


82. Which of the following molecules represents the order of hybridisation

 from left to right atoms-

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sp2, sp2, sp, sp

CH3 − CH = CH − CH3

HC ≡ C − C ≡ CH

CH3 = CH − CH = CH2

CH2 = CH − C ≡ CH

83.  reaction readily occurs in-

A. 

B. 

C. 

SN2

CH3CH2 − O − CH3

CH3 −

CH3

∣

C
∣

CH3

− O − CH3

CH2 = CH − CH2 − O − CH3

https://dl.doubtnut.com/l/_jr8wwz2w77eY
https://dl.doubtnut.com/l/_uwgopbs3pJfN


D. 

Answer: A

Watch Video Solution

ph − CH2 − O − CH2 − CH3

84. The correct decreasing order of  is- 


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

pKa

II > IV > I > III

IV > II > III > I

III > II > IV > I

IV > I > II > III

https://dl.doubtnut.com/l/_uwgopbs3pJfN
https://dl.doubtnut.com/l/_eMoWZaQ7xLnl


85.  

The correct decreasing order of  is-

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

pKb

I > II > III > IV

III > IV > II > I

II > III > IV > I

IV > II > I > III

86. Find the number of stereosiomers of 1,2 - dihydroxycyclopentane-

A. 1

B. 2

C. 3

D. 4

https://dl.doubtnut.com/l/_cRazNwqPFRvJ
https://dl.doubtnut.com/l/_6XFkWQdeKMDM


Answer: C

Watch Video Solution

87. Decreasing order of nucleophilicity is-

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

OH Θ > NH Θ
2 > CH3O

Θ > RNH2

NH Θ
2 > OH Θ > CH3O

Θ > RNH2

NH Θ
2 > CH3O

Θ > RNH2

CH3O
Θ > NH Θ

2 > OH Θ > RNH2

88.  increases in benzoic acid when substituent "x" is bonded at para -

position, then "x" is-

pKa

https://dl.doubtnut.com/l/_6XFkWQdeKMDM
https://dl.doubtnut.com/l/_A3UtrbbwYtK6
https://dl.doubtnut.com/l/_wZQYKzNl8pjS


A. 

B. 

C. `CN

D. 

Answer: D

Watch Video Solution

−COOH

−NO2

−OCH3

89. The IUPAC name of the given compound is 

A. 2,3,4,4 - tetramethylpentane

B. 1,2,2,4 - tetramethylpentene

C. 2,2,4,4 - tetramethylpentane

D. 3,3 - dimethylpentane

Answer: C

Watch Video Solution

(CH3)3CCH2C(CH3)3 −

https://dl.doubtnut.com/l/_wZQYKzNl8pjS
https://dl.doubtnut.com/l/_hJiMHWrtzJNI


90. The purity of an organic compound is determined by -

A. chromataography

B. crystallisation

C. melting or boiling point

D. both (a) and ( c )

Answer: D

Watch Video Solution

91. Lassaigne's test for the detection of nitrogen fails in-

A. 

B. 

C. 

H2N − CO − NHNH2 ⋅ HCI

NH2 − NH2 ⋅ HCI

C6H5 − NH − NH2 ⋅ HCI

https://dl.doubtnut.com/l/_hJiMHWrtzJNI
https://dl.doubtnut.com/l/_757nJiNcDFrK
https://dl.doubtnut.com/l/_F2OnlvAPffuH


D. 

Answer: B

Watch Video Solution

C6H5CONH2

92. Arrange the following nucleophiles in the decreasing order of

nucleophilicty-

A. 2 - ethylalanine

B. 2 - methylglycine

C. 2 - hydroxymethylserine

D. tryptonhan

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_F2OnlvAPffuH
https://dl.doubtnut.com/l/_qjNAYPOZiR4v


93. Arrange the following nucleophiles in the decreasing order of

nucleophilicty- 

(A)  


(B)  


( C )  


(D) 

A. C,B,A,D

B. A,B,C,D

C. D,C,B,A

D. B,C,A,D

Answer: D

View Text Solution

CH3C
∣ ∣

− OΘ

CH3O
Θ

CN Θ

94. Which of the following is an electronphile-

https://dl.doubtnut.com/l/_DY92xLq9tPHe
https://dl.doubtnut.com/l/_0IkawAOb9vIl


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CI2

CH −
3

H2O

NH3

95. Give IUPAC name of the following compound- 

A. 5 - hydroxycyclohex - 3 - ene - 1 - one

B. 3 - hydroxycyclohex - 5 - en - 1 - one

C. 8 - hydroxycyclohex - 3 - en - 1 - one

D. 7 - hydroxycyclohex - 5 - en - 1 - one

Answer: A

https://dl.doubtnut.com/l/_0IkawAOb9vIl
https://dl.doubtnut.com/l/_fKBHlNkx6a2W


View Text Solution

96. Which of the following is the correct order of acidic strenght of the

following compounds- 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

(i) > (ii) > (iii)

(ii) > (iii) > (i)

(i) > (iii) > (ii)

(iii) > (ii) > (i)

97. IUPAC name of the given compounds is- 

https://dl.doubtnut.com/l/_fKBHlNkx6a2W
https://dl.doubtnut.com/l/_ANI66A6PwYp7
https://dl.doubtnut.com/l/_On9DiYHdTlyA


Mcq Single Correct Type

A. 2 - methoxy - 4 - bromonitrobenzene

B. 3 - bromo - 6 - nitro - 1 - methoxybenzene

C. 3 - methoxy - 4 - nitrobromobenzene

D. 5 - bromo - 2 - nitro - 1 - methoxybenzene

Answer: D

View Text Solution

1. The number of  - bonds in pent - 1 - en - 4 - yne molecule is

respectively-

A. 8 and 2

B. 10 and 3

C. 6 and 4

D. 7 and 2

σ − and π

https://dl.doubtnut.com/l/_On9DiYHdTlyA
https://dl.doubtnut.com/l/_GJElU1KwmWkJ


Answer: B

Watch Video Solution

2. The hybrid orbitals involed in the formation of the  bond in the

following compound,  are-

A. 

B. 

C. `sp^(2) - sp^(3)

D. 

Answer: C

Watch Video Solution

C2 − C3

CH2 = CH − CH2 − CH2 − C ≡ CH

sp − sp2

sp − sp3

sp3 − sp3

3. The increasing order of electronegativity of the carbon atoms C - 2, C - 3

and C - 4 in the compound  is-CH3 − C ≡ C − CH2 − CH = CH2

https://dl.doubtnut.com/l/_GJElU1KwmWkJ
https://dl.doubtnut.com/l/_iwUfhsbJlR43
https://dl.doubtnut.com/l/_JNDJDkpXwuw4


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C − 3 < C − 2 < C − 4

C − 4 < C − 3 < C − 2

C − 2 < C − 4 < C − 3

C − 3 < C − 4 < C − 2

4.  , In this conversion, the charge in

hybridisation state of the carbon atom of the functional group is-

A. 

B. 

C. 

D. 

Answer: B

CH3CONH2 → CH3CN

sp3 − sp

sp2 − sp

sp − sp3

sp2 − sp3

https://dl.doubtnut.com/l/_JNDJDkpXwuw4
https://dl.doubtnut.com/l/_TmbJ8Wa9MmKQ


View Text Solution

5. The correct shapes of  molecules are

respectively-

A. linear and tetrahedral

B. planar and pyrmidal

C. tetrahedral and planar

D. tetrahedral and linear

Answer: C

Watch Video Solution

CCl4 and CCl2 = C = C = CI2

6. The number of C and H - atoms that in the same plane in a toluene

 molecule is respectively-

A. 7 and 5

(C6H5CH3)

https://dl.doubtnut.com/l/_TmbJ8Wa9MmKQ
https://dl.doubtnut.com/l/_QpsSEWJ62lhy
https://dl.doubtnut.com/l/_fpll1bOR2Uwu


B. 6 and 5

C. 7 and 3

D. 6 and 3

Answer: A

Watch Video Solution

7. The number primary, secondary, tertiary and quaternary carbon atoms in

2,2,4 - trimethylpentane is respectively-

A. 5,1,1 and 1

B. 1,1,1 and 5

C. 4,1,1 and 2

D. 1,5,1 and 1

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fpll1bOR2Uwu
https://dl.doubtnut.com/l/_o9MjTz7LIwo9


8. In which of the following molecules does all the atoms lie on the same

straight line-

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

HC ≡ C − C ≡ CH

HC ≡ C − CH3

HC ≡ CCN

C3O2

9. Hybridisation states of C - 2 , C - 3 , C - 5 and C - 6 in the compound,

 are respectively-

A. 

B. 

(CH3)3CCHCHC
∣

CH3

≡ CH

sp, sp3, sp2 and sp3

sp3, sp2, sp2 and sp

https://dl.doubtnut.com/l/_o9MjTz7LIwo9
https://dl.doubtnut.com/l/_eGVWfhGJ52M1
https://dl.doubtnut.com/l/_cUpbtO91mCb9


C. 

D. 

Answer: A

Watch Video Solution

sp, sp2, sp2 and sp3

sp, sp2, sp3 and sp2

10. IUPAC name of the compound, 

 is-

A. 4 - propyl - 3 - methylhex - 5 - en - 2 - one

B. 3 - propyl - 5 methylhex - 1 - en - 5 - one

C. 3 - methyl - 4 - propylhex - 5 - en - 2 - one

D. 3 - methyl - 4 - vinylheptan - 2 - one

Answer: C

Watch Video Solution

CH3 −

O

∣ ∣

C − C
∣

CH3

H −

CH =CH2

∣

C − CH2CH2CH3

https://dl.doubtnut.com/l/_cUpbtO91mCb9
https://dl.doubtnut.com/l/_diV2VUihPTZs


11. Bond lenghts of C - H, C - O , C - C and C = C follow the sequence-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C − H < C − O < C − C < C = C

C − H < C = C < C − O < C − C

C − C < C = C < C − O < C − H

C − O < C − H < C − C < C = C

https://dl.doubtnut.com/l/_n0ewwGULx2oi


12. IUPAC name of the compound

A. 1 - chloro - 2 - nitro - 4 - methylbenzene

B. 1 - chloro - 4 - methyl - 2 - nitrobenzene

C. m - nitro - p - chlorotoluene

https://dl.doubtnut.com/l/_FVxL2Mv9asox


D. 2-chloro-1-nitro-5-methylbenzene

Answer: B

Watch Video Solution

13. The hybridisation states of the carbon atom of amido and cyano group

are respectively-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sp3 and sp2

sp2 and sp

sp and sp2

sp3 and sp

https://dl.doubtnut.com/l/_FVxL2Mv9asox
https://dl.doubtnut.com/l/_i2eZZJ9Li7cL


14. Which of the following pair of compounds are isomers-

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

CH3CH2OH, CH3OCH3

CH3OC3H7, C2H5OC2H5

CH3CH2CHO, CH3COCH3

15. Two aliphatic compounds will not be considered isomers if they are-

A. aldehyde and ketone

B. ether and alcohol

C. ether and aldehyde

D. carboxylic acid and ester

https://dl.doubtnut.com/l/_qlE3z6eFYlyK
https://dl.doubtnut.com/l/_QcVKgNWu1joJ


Answer: C

View Text Solution

16. The number of organic compounds with molecular formula  are-

A. 7

B. 5

C. 6

D. 8

Answer: A

Watch Video Solution

C4H10

17. What happens when  reacts with oxygen in presence of sunlight?

A. propane

CHCl3

https://dl.doubtnut.com/l/_QcVKgNWu1joJ
https://dl.doubtnut.com/l/_Hu5JPtdCAnzG
https://dl.doubtnut.com/l/_6asgYf3bEZXg


B. pentane

C. butane

D. cyclohexane

Answer: D

Watch Video Solution

18. Two enanitomers rotate the plane of polarisation of plane polarised

light-

A. in different directions but keeping the angle same

B. in the same direction but with different angles

C. in the same direction and in the same angle

D. in different directions with different angles

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6asgYf3bEZXg
https://dl.doubtnut.com/l/_kWKLFuGYbZtm


19. Which of the following is an optically compoud-

A. 

B. 

C. meso - tartaric acid

D. 

Answer: A

Watch Video Solution

CH3CHCICH = CH2

CH3CHCI2

CH3CH = C = CH2

20. Which of the following compounds exhibit both geometrical and optical

isomerism-

A. 

B. 

C. 

CH3CHCICH = C(CH3)2

CH3CH = CH − CHBrCH2CH3

CH2 = C = CH − CH = CHCH3

https://dl.doubtnut.com/l/_kWKLFuGYbZtm
https://dl.doubtnut.com/l/_7B5KQVT0E39x
https://dl.doubtnut.com/l/_TmVg6kALs3cq


D. 

Answer: B

Watch Video Solution

CH3CH2CH = CH2

21. Which of the following compounds does not exhibit tautomerism-

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH2N = O

CH3NO2

CH3COCH3

(CH3)3CCOC6H5

22. The enol content in which of the following compounds is maximum-

https://dl.doubtnut.com/l/_TmVg6kALs3cq
https://dl.doubtnut.com/l/_n7HANNgVKQhw
https://dl.doubtnut.com/l/_j3tQxe0a75Ha


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

CH3COCH2COCH3

CH3COCH3

CH3CHO

23. The optically active alkane of lowest molecular mass which is also chiral

is-

A. 3 - methylhexane

B. 2,3 - dimethylpentane

C. 2 - methylhexane

D. 2,5 - dimethylhexane

https://dl.doubtnut.com/l/_j3tQxe0a75Ha
https://dl.doubtnut.com/l/_1321ROciYEi3


Answer: A

Watch Video Solution

24. Which of the following compounds possesses a centre of symmetry-

A. trans - 1,3 - dimethylcyclobutane

B. cis - 1,3 - dimethycyclobutane

C. trans - 1 - ethyl - 3 - methylcyclobutane

D. cis - 1 - ethyl - 3 - methylcylobutane

Answer: A

Watch Video Solution

25. The compounds cis - 2 - butene and trans - 2 - butene can be

differentiated by -

https://dl.doubtnut.com/l/_1321ROciYEi3
https://dl.doubtnut.com/l/_FUcv55Uractu
https://dl.doubtnut.com/l/_XKag3PmwqJsE


A. the number of products obtained due to their chlorination

B. the number of products obtained due to their bromination

C. their reaction with  in presence of nickel catalyst

D. their respectively boiling points

Answer: D

Watch Video Solution

H2

26. Which of the following is optically active -

A. 

B. 

C. 

https://dl.doubtnut.com/l/_XKag3PmwqJsE
https://dl.doubtnut.com/l/_QnrzDXwumnb9


D. 

Answer: D

View Text Solution

27. Which of the following is non - superimposable on its mirror image-

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_QnrzDXwumnb9
https://dl.doubtnut.com/l/_xRDB7JLsFVg8


Answer: C

Watch Video Solution

28. The number of isomers formed by a compound whose molecular formula

is  is

A. 3

B. 4

C. 5

D. 6

Answer: D

Watch Video Solution

C2BrClFI

29. , In this reaction, the

hydroxyacid obtained is-

CH3CH(OH)CH
H3O

Θ

−−−→ CH3CH(OH)COOH

https://dl.doubtnut.com/l/_xRDB7JLsFVg8
https://dl.doubtnut.com/l/_WCbyUAAizoH4
https://dl.doubtnut.com/l/_Nr0Q73RXzLay


A. (+) - enantiomer

B. (-) -enantiomer

C. 50% (+) and 80% (-) - enantiomer

D. 20% (+) and 80% (-) - enantiomer

Answer: C

View Text Solution

30. Which of the following compounds will produce the most stable

carbocation in presence of an acid-

A. 

B. 

C. 

D. 

Answer: B

(CH3)2CHCH2OH

CH2 = CH − CH2OH

(CH3)2CHOH

(CH3)3COH

https://dl.doubtnut.com/l/_Nr0Q73RXzLay
https://dl.doubtnut.com/l/_S4aD75NpXUIm


Watch Video Solution

31. The correct order of stability of the given carbonions: para -

 ,  (II) and para -  is-

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

O2NC6H4

Θ
⋅ ⋅
CH2(I) C6H5

Θ
⋅ ⋅
CH2 CH3OC6H4

Θ
⋅ ⋅
CH2(III)

I > II > III

II > I > III

III > II > I

II > III > I

32. The most stable carbocaation is-

A. 

B. 

https://dl.doubtnut.com/l/_S4aD75NpXUIm
https://dl.doubtnut.com/l/_zsdT2UlPobfS
https://dl.doubtnut.com/l/_yFC54MD3ABKn


C. 

D. 

Answer: D

View Text Solution

33. The most stable carbanion is-

A. 

B. 

https://dl.doubtnut.com/l/_yFC54MD3ABKn
https://dl.doubtnut.com/l/_C0QSr0hu6SdK


C. 

D. 

Answer: B

View Text Solution

:
Θ

CH3

34. Carbocation which does not undergo rearrangement is-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(CH3)2CH
⊕

CH2

(CH3)2CH
⊕

CHCH3

(CH3)3

⊕

C

(CH3)3C
⊕

CH2

https://dl.doubtnut.com/l/_C0QSr0hu6SdK
https://dl.doubtnut.com/l/_RNmNf95U1j0q
https://dl.doubtnut.com/l/_EkMQw4CKBEm1


35. Which of the following carbocations is quite stable and can even be

stored in the laboratory as a salt-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(CH3)2

⊕

CH

(C6H5)3

⊕

C

CH2 = CH −
⊕

CH2

⊕

CH2CH2C6H5

36. Compound in which hyperconjugation does not occur-

A. 

B. 

C. 

D. 

C6H5C(CH3)3

C6H5CH3

(CH3)2C = CH2

CD3CH = CH2

https://dl.doubtnut.com/l/_EkMQw4CKBEm1
https://dl.doubtnut.com/l/_3yANEYaP2DQR


Answer: A

Watch Video Solution

37. Which of the gven resonance structures is most stable-

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_3yANEYaP2DQR
https://dl.doubtnut.com/l/_HlqACOWBgufL


Answer: D

View Text Solution

38. Which of the given alicyclic compounds is most active-

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_HlqACOWBgufL
https://dl.doubtnut.com/l/_v2KMweHDniNs


Answer: B

View Text Solution

39. , 


The correct order of stability of these free radicals is-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⋅
CH3(I), CH3

⋅
CH2(II), CH2 = CH

⋅
CH2(III), C6H5

⋅
CH2(IV )

I > II > III > IV

III > II > I > IV

IV > III > II > I

IV > I > II > III

40. The strutures of carbocation and carbanion are respectively-

https://dl.doubtnut.com/l/_v2KMweHDniNs
https://dl.doubtnut.com/l/_CdO2bmbPcIM7
https://dl.doubtnut.com/l/_s47HengIDITQ


A. linear and planar

B. trigonal planar and trigonal pyrmidal

C. tetrahedral and trigonal planar

D. trigonal pyramidal and tetrahedral

Answer: B

View Text Solution

41. Correct order of stability of the given three carbonions is-

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

Θ
⋅ ⋅
CH3 >

Θ
⋅ ⋅
CF3 >

Θ
⋅ ⋅
CCI3

Θ
⋅ ⋅
CF3 >

Θ
⋅ ⋅
CCI3 >

Θ
⋅ ⋅
CH3

Θ
⋅ ⋅
CCI3 >

Θ
⋅ ⋅
CF3 >

Θ
⋅ ⋅
CH3

Θ
⋅ ⋅
CCI3 >

Θ
⋅ ⋅
CH3 >

Θ
⋅ ⋅
CF3

https://dl.doubtnut.com/l/_s47HengIDITQ
https://dl.doubtnut.com/l/_IQqrUCP19syw


Watch Video Solution

42. Which of the following alkenes is most stable-

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(CH3)2C = C(CH3)2

(CH3)2C = CHCH2CH3

CH3CH2CH = CHCH2CH3

CH3CH2CH2CH2 = CH2

43. In which of the following compounds, extent of resonance between the

benzene ring and halogen atom is maximum-

A. 

https://dl.doubtnut.com/l/_IQqrUCP19syw
https://dl.doubtnut.com/l/_HOrT9wmRxsSI
https://dl.doubtnut.com/l/_H5wxLgBF4X57


B. 

C. 

D. 

Answer: A

Watch Video Solution

44. The compound whose basicity is maximum in gaseous and aquious

medium is-

A. 

B. 

NH3

CH3NH2

https://dl.doubtnut.com/l/_H5wxLgBF4X57
https://dl.doubtnut.com/l/_eeMNWGTv2NZ9


C. 

D. 

Answer: C

Watch Video Solution

(CH3)2NH

(CH3)3N

45. (+) - 1 - Chloro - 1 - pheylethane undergoes racemisation in presence of

small amount of . The intemediate formed in this process is-

A. a carbene

B. a carbocation

C. a carbanion

D. a free radical

Answer: B

Watch Video Solution

SbCI5

https://dl.doubtnut.com/l/_eeMNWGTv2NZ9
https://dl.doubtnut.com/l/_AA6DmI9L2ycU
https://dl.doubtnut.com/l/_l9lPX1AvpcEz


46. In which of the following compounds, presence of nitrogen cannot be

detected by Lassaigne's test-

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH2NH2 ⋅ HCI

C6H5NHNH2 ⋅ HCI

PhN = NPh

NH2CONH2

47. Which of the following compounds is responsible for the formation of

Prussian blue during detection of nitrogen by Lassaigen's test-

A. 

B. 

C. 

Na4[Fe(CN)6]

Fe4[Fe(CN)6]3

Fe2[Fe(CN)6]

https://dl.doubtnut.com/l/_l9lPX1AvpcEz
https://dl.doubtnut.com/l/_beVp6nX0nonj


D. 

Answer: B

Watch Video Solution

Fe3[Fe(CN)6]4

48. The process by which essential oils can be extracted from flowers is-

A. distillation

B. crystallisation

C. vacuum distillation

D. steam distillation

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_beVp6nX0nonj
https://dl.doubtnut.com/l/_Nv1YJPNVE2G4


49. The process which is suitable for detecing two different types of ink in

any handwriten ancident document is-

A. column chromatography

B. solvent extraction

C. distillation

D. thin layer chromatography

Answer: D

Watch Video Solution

50. Detection of which of the following functional groups is required to

confirm the presence of nitrogen in the corresponding compound-

A. amido

B. carboxyl

C. carbonyl

https://dl.doubtnut.com/l/_q8a6MApWRpbv
https://dl.doubtnut.com/l/_tOPikSGkb2mw


D. alkoxycarbonyl

Answer: A

Watch Video Solution

51. Which of the following compounds does not exhibit geometrical

isomerism-

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

CH3CH = N − OH

CH3CH = CH − CH = CH2

https://dl.doubtnut.com/l/_tOPikSGkb2mw
https://dl.doubtnut.com/l/_CuYBdtcSCuaB


52. The number of geometrical isomers of the compound, 

 is-

A. 3

B. 2

C. 4

D. 5

Answer: A

Watch Video Solution

CH3CH = CH − CH = CHCH3

53. The number of optically active isomers of the compounds, 

 is

A. 4

B. 2

C. 3

CH3CH(OH)CH(OH)CH3

https://dl.doubtnut.com/l/_lfl7pLbfOr90
https://dl.doubtnut.com/l/_PjsDMyUKh3X5


D. none of these

Answer: B

Watch Video Solution

54. The number of compounds formed on monobromination of 

 is-

A. 3

B. 2

C. 5

D. 4

Answer: D

View Text Solution

CH3CH2

CH3

∣

C H C
∣

CH3

HCH2CH3

https://dl.doubtnut.com/l/_PjsDMyUKh3X5
https://dl.doubtnut.com/l/_GJHhVxMN1KF2
https://dl.doubtnut.com/l/_WlIyA1mK9Hjp


55. Double bond equivalent of  is

A. 4

B. 6

C. 3

D. 2

Answer: A

Watch Video Solution

C8H9CIO

56. The correct order of basicity of

 in chlorobenzene is-

A. 

B. 

C. 

D. 

CH3NH2(I), (CH3)
2
NH(III) and (CH3)

3
N

I < III < II

II < III < I

Il < I < III

II < I < III

https://dl.doubtnut.com/l/_WlIyA1mK9Hjp
https://dl.doubtnut.com/l/_q9g02vjKPhnG


Answer: C

View Text Solution

57. The correct order of stability of

 is-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(CH3)
2

⊕

CH(I), CH3

⊕

CHOCH3(II) and CICH2

⊕

CHCH3

I > II > III

II > III > I

II > I > III

III > II > I

58. 

CH3

Θ

CH − CO − CH3(I), CH3CH2 − CO −
Θ

CH2(II) and
Θ

CH2CH2 − CO

https://dl.doubtnut.com/l/_q9g02vjKPhnG
https://dl.doubtnut.com/l/_YwM1tA8S2wbj
https://dl.doubtnut.com/l/_GuvteRedC5h7


, The correct order of stability of these carbanious is-

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

III < I < II

I < III < II

II < III < I

III < II < I

59. In kjedahl's method,  is used to-

A. catalyse the reaction

B. oxidise the reaction

C. reduce the reacation

D. increases boiling point

Answer: A

CuSO4

https://dl.doubtnut.com/l/_GuvteRedC5h7
https://dl.doubtnut.com/l/_UxYbj1gKghbh


Watch Video Solution

60. The number of optically active isomers among five probable alcohols of

molecular formula  is-

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

C4H10O

61. Which compound gives most unstable enol-

A. 

B. 

https://dl.doubtnut.com/l/_UxYbj1gKghbh
https://dl.doubtnut.com/l/_Sl5vfMq63WYy
https://dl.doubtnut.com/l/_yiiZk5MD04EL


C. 

D. 

Answer: A

View Text Solution

62. If 3.4% sulphur is present in insulin, then the minimum molecular mass

of insulin will be-

A. 350

B. 470

C. 560

D. 940

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yiiZk5MD04EL
https://dl.doubtnut.com/l/_KmV6B0hJH5ry
https://dl.doubtnut.com/l/_rqdocL7Es5xk


63. The number three different asymmetric carbon atoms in a compound.

The number of possible stereoisomers of this compound is-

A. 8

B. 3

C. 9

D. 6

Answer: A

Watch Video Solution

64. There are three different asymmetric carbon atoms in a compound. The

number of possible stereoisomers of this compound is-

A. 8

B. 3

C. 9

https://dl.doubtnut.com/l/_rqdocL7Es5xk
https://dl.doubtnut.com/l/_KYYLb5PefA22


D. 6

Answer: A

Watch Video Solution

65. In which of the following compounds, the nucleophilic character of N -

atom is maximum-

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_KYYLb5PefA22
https://dl.doubtnut.com/l/_apWOu6uFoItj


Answer: A

View Text Solution

66. Which of the following resonance structures is incorrect

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

67. Number of electrons in the p - orbital of methyl cation is-

A. 2

https://dl.doubtnut.com/l/_apWOu6uFoItj
https://dl.doubtnut.com/l/_p5fxsKAqAuXV
https://dl.doubtnut.com/l/_lj9m9DnhG30p


B. 3

C. 4

D. none of these

Answer: D

Watch Video Solution

68. Which compound can exhibit geometrical isomerism-

A. acetone - oxime

B. isobutene

C. acetophnone - oxime

D. benzophenone - oxime

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_lj9m9DnhG30p
https://dl.doubtnut.com/l/_hjC9XlKb4opk
https://dl.doubtnut.com/l/_rz1FsKOqbQBz


69. In which of the following molecules, all the constituent carbon atoms

have the same state of hybridisation-

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

HC ≡ C − C ≡ N

CH3 − C ≡ C − CH2CH3

CH2 = C = C = CN2

CH2 = CH − CHO

70. In which of the following molecules, all the atoms lie in the same plane-

A. 

B. 

C. 

D. 

CH2 = C = CH2

CCl2 = C = C = CH2

C6H5C ≡ CH

CH2 = CH − C ≡ CH

https://dl.doubtnut.com/l/_rz1FsKOqbQBz
https://dl.doubtnut.com/l/_gyk0Dpb2fQiH


Answer: B::C::D

Watch Video Solution

71. Which of the following express a homologous series-

A. methanol, ethanol, 1 - propanol

B. 1 - hexene, 2 - hexene, 3-hexene

C. formic acid, acetic acid, propionic acid

D. methane, methanol, methanal

Answer: A::C

Watch Video Solution

72. Which of the following statements are incorrect-

https://dl.doubtnut.com/l/_gyk0Dpb2fQiH
https://dl.doubtnut.com/l/_dlxEm7F7KdD7
https://dl.doubtnut.com/l/_azAXXPGjKfB7


A. heat of hydrogenation of  is less than that of 

B.  is more stable than 

C. bond lenghts of three carbon - oxygen bonds in carbonate

 ion are not equal

D. free radicals are paramagnetic

Answer: A::C

View Text Solution

CH3CH2CH = CH2

(CH3)2C = CH

Θ

CCI3

Θ

CF3

(CO )
2−

3

73. Which of the following orders of stability are correct -

A. 

B. 

C. 

D. 

CH3

⊕

CHOCH3 > CH3

⊕

CHCH2OCH3

F
⊕

CH2 > FCH2

⊕

CH2

F
⊕

CH2 > FCH2

⊕

CH2

FCH2COO
Θ < CH3COO

Θ

https://dl.doubtnut.com/l/_azAXXPGjKfB7
https://dl.doubtnut.com/l/_23NZEm2hev0z


Answer: A::B

View Text Solution

74. Which process is not represented correctly-

A. 

B. 

C. 

D. 

Answer: A::C

View Text Solution

75. Which of the following sets represent only elctrophiles-

A. BF3, NH3, H2O

https://dl.doubtnut.com/l/_23NZEm2hev0z
https://dl.doubtnut.com/l/_Qv9orsAhnyXI
https://dl.doubtnut.com/l/_BIRANiKSKWdU


B. 

C. 

D. 

Answer: B::C

View Text Solution

AICI3, SO3,
⊕

NO2

⊕

NO2

⊕

CH3, CH3

⊕

CO

C2H
Θ

3 ,
⋅
C2H5, C2H

⊕
5

76. Delocalisation in hyperconjugation occurs-

A. in case of  - bond electrons of C - H bond of any alkyl group directly

linked to a double bond

B. in case of  - bond electrons of C - H bond of any alkyl group directly

linked to a positive carbon atom

C. in case of  - electrons of C = C

D. in case of lone paira of electrons

Answer: A::B

σ

σ

π

https://dl.doubtnut.com/l/_BIRANiKSKWdU
https://dl.doubtnut.com/l/_DpVkfbMln2BM


Watch Video Solution

77. Which of the following statements are incorrect-

A. sodium extract is first boiled with dilure HCI during detection of

halogens by Lassaigne's test

B. if in an organic compound, both nitrogen and sulphur are present,

then blood - red colouration is observed during detection of nitrogen

by Lassaigne's test

C. organic compounds which dissociate at their melting points are

purified by vacuum disillation

D. in paper chromatography, the stationary phase is solid while the

mobile phase is liquid

Answer: A::D

View Text Solution

https://dl.doubtnut.com/l/_DpVkfbMln2BM
https://dl.doubtnut.com/l/_LkwDP8kLPr7A


78. Which of the following compounds give a red colouration in Lassaigne's

test during detection of nitrogen-

A. 

B. 

C. 

D. 

Answer: C::D

View Text Solution

C6H5SO3H

(NH4)2SO4

79. Which of the following compounds give a red colouration in Lassigne's

test during detection of N-

A. 

B. 

C. 

NH2NH2 + charcoal

NH4CI + NaNO3

C6H5COOH + NaNO3

https://dl.doubtnut.com/l/_Id1QWZW0OUxk
https://dl.doubtnut.com/l/_MFVPQnwVd040


D. 

Answer: A::C

Watch Video Solution

NH2NH2 + NH4CI

80. Which of the following are optically active compounds -

A. 

B. 

C. 

D. 

Answer: B::C

View Text Solution

https://dl.doubtnut.com/l/_MFVPQnwVd040
https://dl.doubtnut.com/l/_uJkJx7DbXXHu


81. In which of the following compounds the number of hyperconjugable

hydrogen atoms same

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

CH3 − CH = CH2

CH3 − CH =

CH2CH3

∣

C − CH2CH3

(CH3)
2
C = C(CH3)

2

82. For which of the following compounds the number of compounds

formed on monbromination are same-

A. 

B. 

CH3CH2CH2CH3

C(CH2CH3)4

https://dl.doubtnut.com/l/_Rpu5ArKKzLW8
https://dl.doubtnut.com/l/_VcLhOZP8Z4Jh


C. 

D. 

Answer: A::B

View Text Solution

(CH3)2CHCH2CH3

83. The carbocations which attain stability by resonance are-

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

⊕

CH2 − CH = CH − CH3

⊕

CH2 − CH2 − OH

https://dl.doubtnut.com/l/_VcLhOZP8Z4Jh
https://dl.doubtnut.com/l/_kkT4J975hOSi
https://dl.doubtnut.com/l/_qmJwi77rtukG


84. Mixtures that can be separated by simple distillation are-

A. a mixture of ether and toluene

B. a mixture of hexane and toluene

C. a mixture of benzene and chloroform

D. a mixture of 95% ethanol and 5% water

Answer: A::C

Watch Video Solution

85. Compound that can be purified by steam distillation are -

A. acetic acid

B. o - nitrophenol

C. ethanol

D. nitrobenzene

Answer:

https://dl.doubtnut.com/l/_qmJwi77rtukG
https://dl.doubtnut.com/l/_0ze1fHbngUlO


Watch Video Solution

86. Which of the following statements are incorrect ?

A. quatitative estimation of nitrogen in any compound can be done by

kjedalhl's method

B. quantitative estimation of sulphur in organic compounds can be done

by Dumas method

C. quantitative estimation of halgoens in organic compounds can be

done by Carius method

D. in Liebig's method of detecting carbon and hydrogen in organic

compounds carbon is converted into carbon dioxide while hydrogen is

converted into water

Answer: B::D

Watch Video Solution

https://dl.doubtnut.com/l/_0ze1fHbngUlO
https://dl.doubtnut.com/l/_FWsdg6LlOyni


87. In which of the following processes, any organic liquid vapourises below

its boiling point-

A. vacuum distillation

B. distillation

C. steam distillation

D. sublimation

Answer: A::C

Watch Video Solution

88. Which exhibit optical and geometrical isomerism-

A. 

B. 

C. 

D. 

CH3CHCICH = CH2

CH3 − CHCI − CH = CH2

CH3CH = CH − CH(CH3)3

CH3CH = CH − CH = C = CHCH3

https://dl.doubtnut.com/l/_YP6mc7n80Gvz
https://dl.doubtnut.com/l/_io2ktZdFWSE3


Answer: A::C

Watch Video Solution

89. Which of the following are correct statements-

A.  is more stable than 

B.  does not act as an electrophile

C.  can be stored in the form of 

D.  is less stable than 

Answer: B::D

Watch Video Solution

(CF3)3C
+ (CH3)3C

+

Na+

Ph3C
+ Ph3C

+BF
−

4

CH3CH2O
− O2NCH2CHf2O

−

90. The nucleophilic reagents are-

A. BF3

https://dl.doubtnut.com/l/_io2ktZdFWSE3
https://dl.doubtnut.com/l/_3hICmc9SllKd
https://dl.doubtnut.com/l/_qHwphUSSM3dR


B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

⋅ ⋅
NH3

:CCl2

CN Θ

91. The electrophile reagents are-

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

⊕

NO2

CI ⊕

H2O

SO3

https://dl.doubtnut.com/l/_qHwphUSSM3dR
https://dl.doubtnut.com/l/_RHyqjaoiPMrh
https://dl.doubtnut.com/l/_LsMb1kgx3l4s


92. Which of the following statements regarding Lassaigne's test are

correct-

A. N,S and halogens are detected by converting them into their

corresponding inorganic salts

B. this test if done to detect N, S and hydrogen

C. organic compounds are fused with sodium metal

D. differect halogens can be distinguished

Answer: A::C::D

Watch Video Solution

93. Which of the following exhibit keto - enol taulomerism-

A. 

B. 

C. C_(6)H_(5)COCH_(2)COCH_(3)`

C6H5COC6H5

C6H5COCH = CH2

https://dl.doubtnut.com/l/_LsMb1kgx3l4s
https://dl.doubtnut.com/l/_O6k8wVr6XsVj


D. 

Answer: B::C::D

Watch Video Solution

CH3COCH2COCH3

94. Which of the following do not exhibit optical activity-

A. 3 - methyl - 1 - pentene

B. 2 - methyl - 2 - pentene

C. 4 - methyl - 1 - pentene

D. 3 - methyl - 2 - pentene

Answer: B::C::D

Watch Video Solution

95. The correct statements are-

https://dl.doubtnut.com/l/_O6k8wVr6XsVj
https://dl.doubtnut.com/l/_CQMHrOZjtaY8
https://dl.doubtnut.com/l/_AIEA4ysG7tZB


A. racemic mixture is an equimolecular mixture of a pair of enantiomers

B. configuration of a molecule means stable three - dimensional

arrangement of the groups attached to a specific atom of the

molecule

C. melting & boiling points of 2 enantiomers are diferent

D. a molecule may be optically active or inactive if more than one

asymmetric carbon is present in the molecule

Answer: A::B::D

View Text Solution

96. Which of the following are planar-

A. tert - burtyl radical

B. tert - butyl carbocation

C. tert - butyl carbonion

https://dl.doubtnut.com/l/_AIEA4ysG7tZB
https://dl.doubtnut.com/l/_u2gLpj2J9qnB


D. allyl carbanion

Answer: A::B::D

Watch Video Solution

97. Which can act as both electrophile and nucleophile-

A. 

B. CH_(3)CI`

C. CH_(3)CN`

D. HCHO

Answer: C::D

Watch Video Solution

CH3OH

https://dl.doubtnut.com/l/_u2gLpj2J9qnB
https://dl.doubtnut.com/l/_SLdliNVFTs5h


98. Which of the following can act neither as an electrophile nor as a

nucleophile-

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

H3O
⊕

R4N
⊕

CN Θ

SO3

99. Which of the following conditions favour E2 reaction

A. a strong base of high concentration

B. a solvent of low polarity

C.  alkyl halide as the substrate

D. alkyl iodide

3∘

https://dl.doubtnut.com/l/_02oL8rsUUH1v
https://dl.doubtnut.com/l/_VPTczCQOLXbk


Answer: A::B::C::D

Watch Video Solution

100. Compounds that will not exhibit geometrical isomerism-

A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

CH3CH = CH2

https://dl.doubtnut.com/l/_VPTczCQOLXbk
https://dl.doubtnut.com/l/_3W7RMCZRrjwG


101. In which of the following a plane of symmerty is present-

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

https://dl.doubtnut.com/l/_5FeauxXgXMZD


Very Short Type Question

102. Three stereoisomers of  are possible if the structure of

methane be-

A. reactangular planar

B. square planar

C. square pyramidal

D. octahedral

Answer: A::B

View Text Solution

CH2Y Z

1. What is the value of C - C = C bond angle in benzene  molecule?

Watch Video Solution

(C6H6)

https://dl.doubtnut.com/l/_G5axTQwULIf7
https://dl.doubtnut.com/l/_CGBMaGuJGiDE
https://dl.doubtnut.com/l/_6zLIq0XTUJ4d


2. What is the value of  bond angle in acetylene 

molecule?

Watch Video Solution

H − C ≡ C (C2H2)

3. Mention the state of hybridisation of C and N - atoms in .

Watch Video Solution

CH3NH2

4. Mention the state of hybridisation of the carbon atoms present in the

molecule, .

Watch Video Solution

CH3CH = C = CHCH2CH3

5. Give the name of a simple organic molecule which has a cylindrical  -

electron cloud?

Watch Video Solution

π

https://dl.doubtnut.com/l/_6zLIq0XTUJ4d
https://dl.doubtnut.com/l/_69ODPheXhmx6
https://dl.doubtnut.com/l/_HlCeagkNnuNi
https://dl.doubtnut.com/l/_16NV6SIWj3CA


6. Give example of a molecule in which all atoms lie in same plane.

Watch Video Solution

7. Give example of a molecule in which all the aoms lie in a straight line.

Watch Video Solution

8. Calculate the number of  - bonds in the molecule, 

.

Watch Video Solution

σ and π

CH3CH = CH − C ≡ C − CHO

9. What are the possible values of n if  is a non -

planar molecule?

Watch Video Solution

CH2 = (C)n = CH2

https://dl.doubtnut.com/l/_6S0Lnyet7vLk
https://dl.doubtnut.com/l/_ZL4v3EGX0XIP
https://dl.doubtnut.com/l/_o1CPEJJvH4wS
https://dl.doubtnut.com/l/_Irg1HAbAaNVB
https://dl.doubtnut.com/l/_dM07qb7Fhs2U


10. What are the possible values of n if  is a non -

planar molecule?

Watch Video Solution

CH2 = (C)n = CH2

11. Write the structure of a hydrocabon molecule which contanis one 

carbon atom.

Watch Video Solution

4∘

12. Give example of a compound which contanis primary , secondary 

 and tertiary  H - atoms.

Watch Video Solution

(1∘ )

(2∘ ) (3∘ )

13. How many alkyl groups can be derived from the alkane, 

?

Vi T S l i

CH3(CH2)3CH3

https://dl.doubtnut.com/l/_dM07qb7Fhs2U
https://dl.doubtnut.com/l/_hWXonRraCq8G
https://dl.doubtnut.com/l/_uNL62H4YJJfQ
https://dl.doubtnut.com/l/_da1BkBahTWuL


View Text Solution

14. Write the group prefix used for the - COOH group.

Watch Video Solution

15. Write the IUPAC name. 

Watch Video Solution

−CH(CH3)CH2C(C2H5)CH2CH3

16. Write the IUPAC name: 

Watch Video Solution

CH2 = CH − CH = CH − C ≡ CH

17. Write the structure and name of an alkane having five C - atoms which on

bromination gives only one monobromo derivative.

https://dl.doubtnut.com/l/_da1BkBahTWuL
https://dl.doubtnut.com/l/_OtlqJVTT8aMU
https://dl.doubtnut.com/l/_ksphrq9SHBUR
https://dl.doubtnut.com/l/_VEjZT393hKQG
https://dl.doubtnut.com/l/_ddGmUQmgSAqK


Watch Video Solution

18. Write structures of two compounds which are metamers as well as

positon isomers.

Watch Video Solution

19. Give example of a carbonyl compound in which tautomerism does not

take place.

Watch Video Solution

20. Give example of a  free radical containing six hyperconjugable

hydrogens.

Watch Video Solution

3∘

https://dl.doubtnut.com/l/_ddGmUQmgSAqK
https://dl.doubtnut.com/l/_29RVpaQd2SgE
https://dl.doubtnut.com/l/_rUBG3GNufC8r
https://dl.doubtnut.com/l/_3EPvB92XT3th


21. Which is the most stable carbocation having formula, ?

Watch Video Solution

⊕

C4H9

22. Which has greater resonance stabilisation ?

Watch Video Solution

−Ph
⋅ ⋅
NH2 or Ph

⊕

NH3

23. Write the name of a cyclic compound which is isomeric with but - 1 - ene.

Watch Video Solution

24. Write names of two non - polar solvents which are commonly employed

for crystallisation.

Watch Video Solution

https://dl.doubtnut.com/l/_bNivhjsuvb3i
https://dl.doubtnut.com/l/_6M7lOo0aNimW
https://dl.doubtnut.com/l/_agnq9Bt8wPfd
https://dl.doubtnut.com/l/_pA6F21JSG9Ww


Fill In The Blanks

25. What type of furnace is used in the Carius method for the estimation of

halogens?

Watch Video Solution

26. Mention the type of chromatography in which both the mobile and

stationary phases are liquid.

Watch Video Solution

27. With the help of which type of distillation process glycerol can be

purified?

Watch Video Solution

https://dl.doubtnut.com/l/_nNvwSQJs9czW
https://dl.doubtnut.com/l/_N0MWe9rwHiFe
https://dl.doubtnut.com/l/_5YIjWT29jRsi


1. When four alkyl groups are attached to a carbon atom, that particular C -

atom is called ________ carbon atom.

Watch Video Solution

2. The shape of the molecule containing only  - hybridised carbon atoms

is _______

Watch Video Solution

sp2

3. The C - 2 atom of propa - 1,2 dience is _______ hybridised.

Watch Video Solution

4. The shape of the molecule containing only sp - hybridised carbon atoms

is ________

Watch Video Solution

https://dl.doubtnut.com/l/_3C5yMs0hMQ3l
https://dl.doubtnut.com/l/_mSqLTdVaC25f
https://dl.doubtnut.com/l/_Yt4gHuBtQ843
https://dl.doubtnut.com/l/_mvVBCYIGtfBk


5. The successive members of a homologous series differ by _______ mass

units.

Watch Video Solution

6. The molecule,  contanis _______  - bonds

Watch Video Solution

HC ≡ C − CH = CH − CH3 σ

7. The general formula of dihydric alcohol is _________

Watch Video Solution

8. The compound 5 - (1,2 - dimethylpropyl) - 6 - ethyldecane contains _______

 carbon atoms.

Watch Video Solution

3∘

https://dl.doubtnut.com/l/_mvVBCYIGtfBk
https://dl.doubtnut.com/l/_Ct9pAxgGH4j4
https://dl.doubtnut.com/l/_DxbYblza9D1K
https://dl.doubtnut.com/l/_7KBU68exnGzw
https://dl.doubtnut.com/l/_n2Bu3orfW0Fy


9. Stereoisomers have ________ atoms - to - atom bonding sequence or

connectivity.

Watch Video Solution

10. The number of isomers of a benzenoid aromatic compound having

molecular formula,  is _______

Watch Video Solution

C7H8O

11. Ethoxyethane and 2 - methoxypropane are related as _________

Watch Video Solution

12. The amount of negative charge present on each O - atom of carbonate

ion is ________

Watch Video Solution

https://dl.doubtnut.com/l/_n2Bu3orfW0Fy
https://dl.doubtnut.com/l/_d1CAYkwI91j7
https://dl.doubtnut.com/l/_IhzJ52UPye2L
https://dl.doubtnut.com/l/_abuwiwCAasBO
https://dl.doubtnut.com/l/_1obFGfLzpaEV


Watch Video Solution

13. The homoltic fission of a covalent bond requires _______ energy than that

required by its heterolytic fission.

Watch Video Solution

14. ________ involves delocalisation of  - electrons of C - H bond of an alkyl

group directly attached to an unsaturated system or to an atom with a

vacant or singly p - orbital.

Watch Video Solution

σ

15. In paper chromaatography, both the staionary and mobile phases are

________

Watch Video Solution

https://dl.doubtnut.com/l/_1obFGfLzpaEV
https://dl.doubtnut.com/l/_52GKYOY21j0y
https://dl.doubtnut.com/l/_ESzJbRSWA7Ud
https://dl.doubtnut.com/l/_vEWdnaGyzT0c


16. An impure sample of benzoic acid containing a little sodium chloride can

be purified by ________

Watch Video Solution

17. In steam distillation, the orgainc liquid boils at a temperature ________

than its normal boiling point.

Watch Video Solution

18. In Carius method of estimation, chlorine present in an organic

compound is convered into _______

Watch Video Solution

19. ________ distillation is used to remove water from rectified spirit.

Watch Video Solution

https://dl.doubtnut.com/l/_aeHfuqf1snTO
https://dl.doubtnut.com/l/_I2q3fgdKfFyL
https://dl.doubtnut.com/l/_TfZxzo4m1rT2
https://dl.doubtnut.com/l/_ugqlchhjV2mb


Short Type Questions

1. The bond dissociation energy of  is smaller than that of 

 bond - why?

Watch Video Solution

Csp3 − H

Csp − H

2. Write structures and names of a cycloalkane and an alkene which are

isomeric with each other.

Watch Video Solution

3. How many organic groups can be derived from propene? Write their

structures and names.

Watch Video Solution

https://dl.doubtnut.com/l/_ugqlchhjV2mb
https://dl.doubtnut.com/l/_f4eimbiVgXCe
https://dl.doubtnut.com/l/_Lvx0o3FDbdCJ
https://dl.doubtnut.com/l/_KHZbQrdyus8X
https://dl.doubtnut.com/l/_RIjWMV1VxFF8


4. Write the structure of the compound 1,1,4 - trimethylcychohexane.

Watch Video Solution

5. How many strutural isomers having molecular formula  is

possible?

Watch Video Solution

C3H5Br3

6. Predict whether the ketone, PhCOPh will exhibit tautomerism or not.

Watch Video Solution

7. Write structure of that geometric isomer of 2,3 - dichlorobut - 2 - ene

which has lower boiling point and explain this observation.

Watch Video Solution

https://dl.doubtnut.com/l/_RIjWMV1VxFF8
https://dl.doubtnut.com/l/_vYI0IqFiY8i0
https://dl.doubtnut.com/l/_mVoa4CDlTjq9
https://dl.doubtnut.com/l/_OpAYUSXX6KL5
https://dl.doubtnut.com/l/_0XjhSuQ4K3Ks


8. Which out of

 has

higher heat of hydrogenation and why?

Watch Video Solution

CH2 = CH − CH = CHCH3 and CH2 = CHCH2CH = CH2

9. Explain why all C - O bonds in  ion are equal in length.

Watch Video Solution

CO
2 −

3

10. Explain why 2 - fluorobutanoic acid is more acidic than 2 - chlorobutanoic

acid.

Watch Video Solution

11. Write structures of the ions expected to be formed by the heterolytic

cleavage of a C - C bond of 2,2 - dimethylpropane and explain their

formation.

https://dl.doubtnut.com/l/_0XjhSuQ4K3Ks
https://dl.doubtnut.com/l/_IODVN9xqQT6X
https://dl.doubtnut.com/l/_EgQa6ub0Ktgb
https://dl.doubtnut.com/l/_c4F9cF0uHelM


Watch Video Solution

12. Which out of  is more basic and why?

Watch Video Solution

CH3CH2

⋅ ⋅
NH2 and CH3CO

⋅ ⋅
NH2

13. How will you separate benzene from nitrobenzene mixed with their

mixture and why?

Watch Video Solution

14. Explain, why an organic liquid vaporise at a temprature below its boiling

point in its steam distillation?

Watch Video Solution

https://dl.doubtnut.com/l/_c4F9cF0uHelM
https://dl.doubtnut.com/l/_y7Vy14rEBR8Q
https://dl.doubtnut.com/l/_NZaEQhEaNeWE
https://dl.doubtnut.com/l/_phxo0UMzm11B


Warm Up Exericse

15. The presence of nitrogen in hydrocylamine hydrochloride cannot be

detected by Lasaigne's test - why?

Watch Video Solution

16. Before the tests for halogens the Lassaigne's extract is to be boiled with

dil.  - why?

Watch Video Solution

HNO3

17.  values are usually expressed as decimal fraction - why?

Watch Video Solution

Rf

https://dl.doubtnut.com/l/_GlZd3DjDeNPm
https://dl.doubtnut.com/l/_tsCayJhs7ayN
https://dl.doubtnut.com/l/_QIe3YDR6bmZ4


1. The valency of carbon if four even though its electronic configuration is

 - explain.

Watch Video Solution

1s22s22p2

2. No organic compound is known in which  ion exists -

explain.

Watch Video Solution

C 4 + or C 4 −

3. What is the angle between any two adjacent valencies (bond) in the

tetrahedral model of carbon?

Watch Video Solution

4. Why are the four C - CI bonds in  equivalent?.

Watch Video Solution

CI4

https://dl.doubtnut.com/l/_qGAlqDXMejxf
https://dl.doubtnut.com/l/_dgmqZV5o7HOH
https://dl.doubtnut.com/l/_y2yoE8yDBEsC
https://dl.doubtnut.com/l/_LG4xa2AGmzL9


5. Mention the angles between two  orbitals.

Watch Video Solution

sp3, sp2 and sp

6. Mention the state of hybridisation of the starred  carbon atoms in

each of the following compounds. 

(i)  


(ii)  


(iii)  


(iv)  

(v)  


(vi) 

View Text Solution

( ∗ )

CH2 =
⋅
CH − CH3

CH2 =
⋅
C = CH2

H
⋅
CHO

H
⋅
CN

CH3

⋅
CH2OH

7. How many  - bonds are present in each of the following

molecules? 

σ and π

https://dl.doubtnut.com/l/_LG4xa2AGmzL9
https://dl.doubtnut.com/l/_ud9UROryDBVj
https://dl.doubtnut.com/l/_r9NrvwRzkFr1
https://dl.doubtnut.com/l/_qvuAyGwCrWae


(i)  


(ii)  


View Text Solution

CH3 − C ≡ C − CH = CH2

CH2 = CH − CH = C = CHCH3

8. Which atoms in each of the following molecules remain in the same plane

and why? 

(i)  


(ii)  


(iii)  


(iv) 

Watch Video Solution

CH3CH = CH2

C6H5C ≡ CCH3

CH3CH = C = C = CHCH3

CH3COCH2CH3

9. Which atoms in each of the following molecules lie in the same line and

why? 

(i)  


(ii) 

CH3C ≡ C − C ≡ N

CH3C ≡ C − C ≡ C − CI

https://dl.doubtnut.com/l/_qvuAyGwCrWae
https://dl.doubtnut.com/l/_AcR3H63i6Voj
https://dl.doubtnut.com/l/_LdeG8EmLQGqh


Watch Video Solution

10. For what type of hybridisation of carbon atom an orgainc molecule

possess three - dimensional shape?

Watch Video Solution

11. A  - bond is weaker and more reactive than a  - bond. Why?

Watch Video Solution

π σ

12. Arrange  hybrid orbitals in order of their increasing size.

Watch Video Solution

sp, sp2, sp3

13. What is the shape of each of the given compounds? 

(i)  
H2C = O

https://dl.doubtnut.com/l/_LdeG8EmLQGqh
https://dl.doubtnut.com/l/_ICYHJjR4Kte7
https://dl.doubtnut.com/l/_fiB7iBs2XBoF
https://dl.doubtnut.com/l/_EbwsXfXkPP63
https://dl.doubtnut.com/l/_R5tRx7Fac8uA


(ii)  


(iii) HCN

Watch Video Solution

CH3CI

14. Arrange   - bonds in order of

increasing bond length and explain the order.

Watch Video Solution

Csp − H, Csp3 − H and Csp3 − H σ

15. Arrange  - and explain the order.

Watch Video Solution

Csp − CSp, Csp2 and Csp3 − Csp3σ

16. Write down the bond - line structural formula of 

(i) 2 - methylbutane, 

(ii) 3,3 - dimethylhexane, 

https://dl.doubtnut.com/l/_R5tRx7Fac8uA
https://dl.doubtnut.com/l/_qdCyKdZcBe53
https://dl.doubtnut.com/l/_4qzfd96EZPLz
https://dl.doubtnut.com/l/_jzFLGQtR3ntj


(iii) 2 - bromo - octane and 

(iv) chlorocyclopentane.

Watch Video Solution

17. Which is the correct bond - line structural formula into

 


View Text Solution

CH3CHd2C ≡ CCH2CH3

18. Expand each of the following condensed formula into their complete

structural formulas: 

(i)  


(ii)  


(iii) 

Watch Video Solution

CH3CH2COCH2CI

CH3CH = CH(CH2)4CH3

BrCH2CH2 ≡ CCH2CH3

https://dl.doubtnut.com/l/_jzFLGQtR3ntj
https://dl.doubtnut.com/l/_UwhQjtjfw2lk
https://dl.doubtnut.com/l/_sRzUTiTpAb1H
https://dl.doubtnut.com/l/_NMTtx5d5hnZT


19. Write down the condensed structural formula and bond - line structural

formula for each of the following molecules: 

(i)  


(ii) 

View Text Solution

ICH2CH2CH2CH2CH(CH3)CH3

20. Expand each of the following bond - line formulas to show all the atoms

including carbon and hydrogen: 

View Text Solution

21. Give examples of 

(i) Alicylic compound 

(ii) Benzenoid aromatic compound 

(iii) Non - benzenoid aromatic compound 

(iv) Heterocyclic aromatic compound.

https://dl.doubtnut.com/l/_NMTtx5d5hnZT
https://dl.doubtnut.com/l/_rx7gQ6EE6rF8
https://dl.doubtnut.com/l/_xL035WIRpOY0


Watch Video Solution

22. Identify the saturated compounds : 

(i)  


(ii)  


(iii)  


(iv) 

Watch Video Solution

CH3CH2CH = O

C2H5CH = CH2

C2H5OH

CH2 = CHCOOH

23. Give examples of two terminal functional groups.

Watch Video Solution

24. Give the structural difference of aldehydic & ketonic groups.

Watch Video Solution

https://dl.doubtnut.com/l/_xL035WIRpOY0
https://dl.doubtnut.com/l/_ljl8OLxz30xd
https://dl.doubtnut.com/l/_B801aEZHRSv8
https://dl.doubtnut.com/l/_GWTUZw76z42v
https://dl.doubtnut.com/l/_J18l6iMcD4Jn


25. Both formic acid (HCOOH) and acitic acid  contain the

same functional group, yet there are some difference in their chemical

properties - explain.

Watch Video Solution

(CH3COOH)

26. Members of the same homologous series have similar chemical

properties - explain.

Watch Video Solution

27. Label the primary ,secondary , tertiary  and quaternary 

 carbon atoms in the following compounds: 


View Text Solution

(1∘ ) (2∘ ) (3∘ )

(4∘ )

https://dl.doubtnut.com/l/_J18l6iMcD4Jn
https://dl.doubtnut.com/l/_fSTwdSMqmTbJ
https://dl.doubtnut.com/l/_uXtOVAfLARKj


28. Write down the structure of an alkane which contains only primary 

carbon atoms and primary  hydrogen atoms.

Watch Video Solution

(1∘ )

(1∘ )

29. Give examples of the following : 

(i) a mixed ether , 

(ii) a tertiary alcohol, 

(iii) an aromatic aldehyde, 

(iv) a mixed anhydride and 

(v) a secondary amine.

Watch Video Solution

30. What is called alkyl group of alkyl radical? Give example.

Watch Video Solution

https://dl.doubtnut.com/l/_98hyuWVXvDrU
https://dl.doubtnut.com/l/_2rdXOnPe2cxz
https://dl.doubtnut.com/l/_d5H9Z6ou9eFb
https://dl.doubtnut.com/l/_GlSnkHWL6wLA


31. Write down the IUPAC names of the alkyl groups having the molecular

formula , .

Watch Video Solution

C4H9

32. Write down the IUPAC and common names of each of the given

compounds: 

(i)  


(ii) CH_(3)CHOHCH_(3) CH_(3)OCH_(2)CH_(2)CH_(3)

CH_(3)CH_(2)CHO CH_(3)COC_(2)H_(5) C_(2)H_(5)COOH

C_(2)H_(5)COCI CH_(3)CONH_(2) CH_(3)CO_(2)C_(2)H_(5)

CH_(3)CH_(2)NH_(2) CH_(3)NHCH_(2)CH_(3) (CH_(3))_(2)NCH_(2)CH_(3)

CH_(3)CH_(2)CN

Watch Video Solution

CH3CH = CH2

CH3C ≡ CCH3(iii) (iv)

(v) (vi) (vii) (viii)

(ix) (x) (ξ)

(ξi) (ξii)

(ξv)

33. Write down the structures of the following compounds: 

(i) 2 - Iodoprapane 

https://dl.doubtnut.com/l/_GlSnkHWL6wLA
https://dl.doubtnut.com/l/_MlenvV2qLhLw
https://dl.doubtnut.com/l/_E0vsj0EvHXNF


(ii) Hex - 3 - yne 

(iii) pent - 1 - ene 

(iv) 2,2 - Dichloropropane 

(v) 1,1,1,2 - Tetrachloroethane 

(vi) propan - 2 - ol 

(vii) propane - 1 ,3 - diol 

(viii)Butane - 1,2,3, - triol. 

(ix) 2 - Methoxypropane 

(x) 2 - Methylpentanoic acid 

(xi) 2,2 - Dimethylbutanal 

(xii) Pentan - 3 - one 

(xiii) Butanoyl chloride 

(xiv) Acetic formic anhydride 

(xv) Ethyl methanoate 

(xvi) N - Methylmethanamine 

(xvii) N - Ethyl - N - methyl - ethanamine 

(xviii) Butanenitrile.

View Text Solution

https://dl.doubtnut.com/l/_E0vsj0EvHXNF
https://dl.doubtnut.com/l/_1DjgNLi9CJ3Z


34. Write down the IUPAC names of the following compounds: 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(vi)  


(vii) 

View Text Solution

CH3CH2 C
∣

C2H5

HCH2 C
∣

C2H5

HCH3

(CH3)3CC2H5

(CH3)2CHCH2C(CH3)3

(CH3)3C − C
∣

CH2CH3

H − CH(CH3)2

CH3CH2CH2 C
∣

C (CH3 ) 3

HCH2CH2CH3

(C2H5)2CHCH(C2H5)2

CH3CH2

C2H5

∣

C H −

C (CH3 ) 3

∣

C H − CH2CH2CH(CH3)2

35. What is wrong with the following names? Draw the structures they

represent and write their correct names. 

(i) 1,1 -dimethylhexane 

(ii) 2 - methyl - 2 - propylhexane 

(iii) 3 - methyl - 5 - ethylheptane 

(iv) 4,4 - dimethyl - 3 - ethyl - pentane 

https://dl.doubtnut.com/l/_1DjgNLi9CJ3Z
https://dl.doubtnut.com/l/_t0wwyiCsAfiV


(v) 3,4,7 - trimethyloctane 

(vi) 3,3 - diethyl - 2.4.4 trimethylpentane

View Text Solution

36. Give the IUPAC name of the following alkane containing complex

substituents: 

View Text Solution

37. Write the IUPAC names of the following compounds: 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(C2H5)2CH − CH = CH2

CH2 = CH −

C2H5

∣

C H − CH2 − C ≡ CH

CH2 = C
∣

C (CH3 ) 2

− CH2 − CH3

CH3 − CH = CH − C ≡ CH

CH2 = CH −

CH3

∣

C H − CH2 − CH = CH2

https://dl.doubtnut.com/l/_t0wwyiCsAfiV
https://dl.doubtnut.com/l/_ARbdHSeHPEq8
https://dl.doubtnut.com/l/_uTTRBTPRLZxa


(vi)  


(vii)  


(viii)  


(ix)  


(x) 

View Text Solution

CH3CH2C ≡ CCH
∣

H2C=CH

− CH2CH(CH3)2

CH3CH2CH2

CH =CH2

∣

C HCH2CH2CH2CH3

CH2 = CH −

CH3

∣

C H −

CH2

∣ ∣

C − CH2 − C ≡ CH

HC ≡ C − C = CH − CH = CH2

CH2 = C = CH − CH2 − C
∣

CH =CH2

H − CH3

38. Write down the structure of the following compounds: 

(i) Pent -3 - en - 1 - yne 

(ii) 3 - methylpenta - 1 - 4 - diyne 

(iii) 3 - (2 - methyl propyl)hept - 1 - en - 4 - yne 

(iv) 3 - ethylpenta - 1,3 diene 

(v) 5 - ethylnylhepta - 1,3,6 - triene 

(vi) 4 - ethyl - 4 - methylhex - 1 - yne

Watch Video Solution

https://dl.doubtnut.com/l/_uTTRBTPRLZxa
https://dl.doubtnut.com/l/_fq1sGjKy7Wo0
https://dl.doubtnut.com/l/_KxZB3BvnH3Tp


39. Write down the IUPAC names of the following compounds: 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(vi)  


(vii)  


(viii)  


(ix)  


(x)  


(xi)  

(##CHY_CHE_ORG_XI_P2_U12_E10_039_Q02.png" width="80%">

View Text Solution

CH3 C
∣

NO2

HCHICHOHCH3

CH2 = CH − CH2COOH

(CH3)2CHCO C
∣

CH3

HOCH3

(CH3CH2)2CHCOCI

(CH3)2C = CHCOCH2CH(CH3)2

CH3CHCICHBr C
∣

CH3

HCOOH

CH3CO C
∣

CH2CH =CH2

H − C ≡ CH3

HOOC − COOH

MeO2CCH2CH2CO2Me

CH3COCH2COCH3

https://dl.doubtnut.com/l/_KxZB3BvnH3Tp


40. Write down the structures of the following 

(i) 2 - methyl - butanoyl chloride 

(ii) 5 - chloro - 3 - ethylpentan - 2 - one 

(iii) Diethyl butane - 1,4 dioate 

(iv) Methyl - 2 - methylprop - 2 - en - 1 - oate 

(v) 3 - phenylprop - 2 - enoic acid 

(vi) Propane - 1,2,3 - tricarboxamide.

View Text Solution

41. Arrange the following functional groups in order of preference as the

principal funcitional groups: 

Watch Video Solution

−CONH2, − NH2, − CHO, − CN, − COOH, − OH

42. Give the IUPAC names of the following compounds: 

(i)  
CH3COCH2COOC2H5

https://dl.doubtnut.com/l/_RVZyis8WlmoD
https://dl.doubtnut.com/l/_lO7SCLYBx2e1
https://dl.doubtnut.com/l/_2iiTMbr09gVh


(ii)  


(iii) 

Watch Video Solution

H2NCH − (2)CH2CH2COOH

CH3CH(CN)CH − (2)COCH3

43. Write down the structures of the following compounds: 

(i) 3 - formylpentanoic acid 

(ii) 3 - hydroxy - 4 - oxopentanal 

(iii) 2,3 - dihydroxybutanedioic acid 

(iv) 3 - hydroxycyclo - hexanone 

(v) 3 - hydroxy - 3 - meyhylbutan - 2 - one

Watch Video Solution

44. Write the structure of the following compounds: 

(i) 2 - chloro - 2 - methylbutan - 1 - ol 

(ii) 4 - amino - 2 - ethylpent - 2 - enal 

(iii) Hex - 4 - yn - 2 - one 

(iv) 1 - bromo - 3 - chlorocyclohex - 1 - ene 

https://dl.doubtnut.com/l/_2iiTMbr09gVh
https://dl.doubtnut.com/l/_aKf77KO6wSYz
https://dl.doubtnut.com/l/_yeLrEysgDdkc


(v) But - 2 - ene 1, 4 - dioic acid 

(vi) 4 - nitropent - 1 - yne 

(vii) Ethyl 3 - methoxy - 4 - nitrobutanoate

Watch Video Solution

45. What type of structural isomerism is exhibited by the following pairs of

isomers? 

(i)  


(ii)  


(iii)  


(iv)  and 


 

(vi) 

View Text Solution

CH3CH2COOH and CH3COOCH3

CH3 − C ≡ C − CH3 and CH3CH2C ≡ CH

CH2 = CHOH and CH3CHO

CH2 = CH(CH2)3CH3

CH3CH2CH2OH and (CH3)2CHOH

46. Write the structures and IUPAC names of two metemers having

molecular formula, .C5H10O

https://dl.doubtnut.com/l/_yeLrEysgDdkc
https://dl.doubtnut.com/l/_kMRRnOHgNUks
https://dl.doubtnut.com/l/_unC7jsqF5nLn


Watch Video Solution

47. Give example of a ketone that does not exhibit tautomerism.

Watch Video Solution

48. Arrange in the order in increasing enol content and give reasons:

 


 

View Text Solution

CH3COCH3

CH3COCH2COCH3

49. Which tow of the following compounds are: 

(i) position isomers 

(ii) tautomers 

(iii) ring - chain isomers 

(iv) metamers 

https://dl.doubtnut.com/l/_unC7jsqF5nLn
https://dl.doubtnut.com/l/_nD9O9Lq6xFxa
https://dl.doubtnut.com/l/_qsaJDeBy8Q3o
https://dl.doubtnut.com/l/_yw0WSpWEbOTk


(v) chain isomers and 

(vi) functional isomers? 

(a)  


(b)  

( c)  

(d)  


(e)  

(f)  


 

(g)  

(h)  

(i)  

(j) (##CHY_CHE_ORG_XI_P2_U12_E10_050_Q07.png" width="80%"> 

(k)  

(l) 

View Text Solution

C2H5NO

CH3OCH − (3)

CH2 = CHCH2OH

CH3CH = NOH

C2H5OH

https://dl.doubtnut.com/l/_yw0WSpWEbOTk


50. Identify the optically active and optically inactive compounds : 

(i)  


(ii)  


(iii)  


(iv)  

(v) 

View Text Solution

CH3CHOCHC2H5

CH3CH2OH

C2H5CHBrCH(CH3)2

CH3CH = CHC2H5

51. Which of the following will geometrical or cis - trans isomerism and

which of them will not? Give reasons. 

(i)  


(ii)  


(iii)  


(iv)  

(v)  


 

CH3CH = CBr2

BrCH = CH2CH3

CH2 = CH − CH = CH2

CH2 = CHCH = CHCH = CH2

https://dl.doubtnut.com/l/_f7GuocBMR2NV
https://dl.doubtnut.com/l/_U2xF0IpOnU2T


(vii)  

(viii) 

View Text Solution

52. Draw the Fischer projection formulas of all stereoisomers of

. Mention how they are related to each other.

Watch Video Solution

CH3CHBrCHCICOOH

53. Write down the structure and IUPAC name of two isomeric optically

active alkanes having lowest molecular mass.

Watch Video Solution

54. Which of the following compounds are meso - compounds and which

are not? Give reasons. 

https://dl.doubtnut.com/l/_U2xF0IpOnU2T
https://dl.doubtnut.com/l/_sEdMix3iqbsM
https://dl.doubtnut.com/l/_20IlUAHzcdjL
https://dl.doubtnut.com/l/_vA5ezIbwxJaB


View Text Solution

55. Write the structure and the IUPAC name of the alkane having lowest

molecular mass and which on bromintion produces three monobromo

derivatives.

Watch Video Solution

56. How many types of non - equivalent H - atoms are threr in each of the

following compounds: 

View Text Solution

57. Write the structure and the IUPAC name of alkane  which o

bromination produces only I monobromo derivative.

View Text Solution

(C18H36)

https://dl.doubtnut.com/l/_vA5ezIbwxJaB
https://dl.doubtnut.com/l/_zzQAawwlz23q
https://dl.doubtnut.com/l/_zUEkk55YG6rk
https://dl.doubtnut.com/l/_tnZnZnTpqLRB


58. Calculate the double bond equivalent (DEB) of each of the given

compounds: 

(i)  


(ii) 

Watch Video Solution

C13H9BrS

C12H16N2O4

59. Calculate the double bond equivalent (DEB) of a compound having

molecular formula, . On catalytic hydrogenation. Write the structures

of all the possible isomers of the compound.

Watch Video Solution

C5H8

60. Arrange the following atoms or groups in increasing order of - I effect: -

I, - Br, - CI, - F

Watch Video Solution

https://dl.doubtnut.com/l/_1zI0hWhqTazw
https://dl.doubtnut.com/l/_jDSBHCTmvIVW
https://dl.doubtnut.com/l/_MQR85tjBSsea
https://dl.doubtnut.com/l/_hHq3pJG7xIfL


61. Arrange in decreasing order of their strenght and give reasons:

Watch Video Solution

Me2CHCOOH, Me3CCOOH, CH3CH2COOH

62. Arrange in increasing order of strenght and give reasons: 

Watch Video Solution

CH2 = CHCOOH, HC ≡ CCOOH, CH3CH2COOH

63. Why is  more basic than  mediun?

Watch Video Solution

Bu3N BuNH2  in  C6H5CI

64. Arrange in order of decreasing basic strenght and show reasons

Watch Video Solution

CH3 − CH =
⋅ ⋅
NH, CH3 − C ≡

⋅ ⋅
N , CH3 −

⋅ ⋅
NH2

https://dl.doubtnut.com/l/_hHq3pJG7xIfL
https://dl.doubtnut.com/l/_wiXXNum2NL8I
https://dl.doubtnut.com/l/_Ry1TlqbQo0TG
https://dl.doubtnut.com/l/_8RlS9yOetZQ2


65. Arrange in order of increasing acidity and give reasons: 

Watch Video Solution

CH3CH2OH, (CH3)3COH, CH3OH, (CH3)2CHOH

66. Arrange the following anions in increasing order of stability and give

reasons: 

Watch Video Solution

CH2 =
Θ

CH, CH3

Θ

CH2, CH ≡
Θ

C

67. Which of the following pairs do not represent two resonance structures

and why? 

(i)  

(ii)  

(iii)  


(iv)  

(v) 

CH3COCH3 and CH3 −

OH

∣

C = CH2

CH3CH = CHCH3 and CH3CH = CH2

https://dl.doubtnut.com/l/_vBCI9cIue4XT
https://dl.doubtnut.com/l/_jUCnR9cvqyH8
https://dl.doubtnut.com/l/_5HnBApF6nKFj


View Text Solution

68. In between , which one is more resonance

stabilised and why?

Watch Video Solution

CH3COOH and CH3COO
Θ

69. Which N - atom of guanidine  is more basic and

why?

Watch Video Solution

⎛
⎜⎜⎜
⎝

H2

⋅ ⋅
N −

⋅ ⋅
NH2

∣

C =
⋅ ⋅
NH

⎞
⎟
⎟
⎟
⎠

70. Which of the two N - atom of the following compound undergoes

protonation and why? 

View Text Solution

https://dl.doubtnut.com/l/_5HnBApF6nKFj
https://dl.doubtnut.com/l/_ALFBHEqfFm1l
https://dl.doubtnut.com/l/_lpnJXYqRWMJR
https://dl.doubtnut.com/l/_cz6MNtgHnlY6


71. Which resonance structure in each of the following cases contributes

more towards the hybrid and why? 

(i)  


(ii)  


(iii)  


(iv)  


(v) 

View Text Solution

CH2 =
⊕

NH2 ↔
⊕

NH2

CH2 = O ↔
⊕

CN2 −
Θ

O

Θ

CH2 − CH = O ↔ CH2 = CH =
Θ

O

R3

⊕

N − CH = O ↔ R3

⊕

N −
⊕

CH −
Θ

O

72. Which of the following compounds can be reperesented as a resonance

hybrid and which of them cannot be? Give reasons. 

(i)  


(ii)  


 

(iv)  


(v) 

CH3CH2OH

CH3CONH2

CH3CH = CHCH2NH2

H2N − CH = CH − NO2

https://dl.doubtnut.com/l/_cz6MNtgHnlY6
https://dl.doubtnut.com/l/_SYD2VsbqHA2m
https://dl.doubtnut.com/l/_3wBAIF4tqIxd


View Text Solution

73. Why are the three carbon - oxygen bonds in carbonate  ion

equal in length?

Watch Video Solution

(CO )
2 −

3

74. Which one between phenol and cyclohexanol is more acidic and why?

Watch Video Solution

75. Arrange the following ions in order of increasing stability and give your

reasons: 

View Text Solution

https://dl.doubtnut.com/l/_3wBAIF4tqIxd
https://dl.doubtnut.com/l/_qY4PhlYGweHB
https://dl.doubtnut.com/l/_VClTGSRqicgM
https://dl.doubtnut.com/l/_PWzP5jZxks83


76. Which one between 2 - methylbut - 2 - ene and 2 - methylbut - 1 - ene has

higher heat of hydrogenation and why?

Watch Video Solution

77. The C - C bond in acetaldehyde  is shorter than that in

ethane while the C - C bond in trifluoracetaldehyde  is

essentially the same as that in ethane. Explain.

Watch Video Solution

(CH3CHO))

(CF3CHO))

78. Arrange the following isomeric alkenes in order of increasing stability

and give your reasons:

 


 


Watch Video Solution

(CH3)2C = C(CH3)2[I], CH2 = CHCH2CH2CH3[II]

CH3CH = CHCH(CH3)(2)[III],

CH3CH = C(CH3)CH2CH3[IV ]

https://dl.doubtnut.com/l/_76wWvIkEqi1G
https://dl.doubtnut.com/l/_RxcQKezfRnD3
https://dl.doubtnut.com/l/_AvGph9Zj3PBz


79. Which one of the following two conformations of butane is more stable

and why? 

View Text Solution

80. Which of the 2 geometric isomers of  has

higher heat of combustion and why?

Watch Video Solution

Me3CCH = CHCMe3

81. Explain the following observation 

View Text Solution

https://dl.doubtnut.com/l/_Cop1GinrnOSM
https://dl.doubtnut.com/l/_oWCRnPwMMzym
https://dl.doubtnut.com/l/_8BUv0yj0lFgx


82. Label the following carbocations as  : 


View Text Solution

1∘ , 2∘ or 3∘

83. Arrange the following carbocations in order of increasing stability and

explain the order: 

View Text Solution

84. Which of the carbocations is the most stable? 

(i)  


(ii)  


(iii)  


(iv) All are equally stable.

Watch Video Solution

CH3CH2

⊕

CH2

CH2 = CH −
⊕

CH2

C6H5

⊕

CH2

https://dl.doubtnut.com/l/_eVAXLcmXVAnE
https://dl.doubtnut.com/l/_kBPFOi6T6ydA
https://dl.doubtnut.com/l/_eJmTxwy00APB


85. Which one of the two carbanions  is less stable and why?

Watch Video Solution

Θ

△ ,
Θ

△

86. Which one between the two  and  is

more stable and why?

Watch Video Solution

CH3CO
Θ

CH2 CH3CO
Θ

CHOCH3

87. Arrange the following free radicals in order of increasing stability and

explain the order: 

View Text Solution

88. What are the shapes of the free radicals  and why?

Watch Video Solution

⋅
CH3,

⋅
CF3

https://dl.doubtnut.com/l/_A2p3KA2mFopM
https://dl.doubtnut.com/l/_uJvlqelm2GQo
https://dl.doubtnut.com/l/_yx8qJxeOxaYM
https://dl.doubtnut.com/l/_dxBCeU07wFvb


Watch Video Solution

89. What is homolytic bond fission?

Watch Video Solution

90. Which one between  has lower  bond

dissociation enthalpy and why?

Watch Video Solution

C6H5CH3 and CH4 Csp3 − H

91. Arrange the following carbocation in order of increasing stability and

explain the order: 

View Text Solution

https://dl.doubtnut.com/l/_dxBCeU07wFvb
https://dl.doubtnut.com/l/_U8ZX2aAhWRsc
https://dl.doubtnut.com/l/_4ztFEAfKXxlM
https://dl.doubtnut.com/l/_5ZcoZ20ARyIb


92. Arrange the following carbonions in order of increasing stability and

explain the order: 

View Text Solution

93. Designate the species as electrophile or nucleophile obtained on

heterolytic cleavage of C - C bond in ethane.

Watch Video Solution

94. Although  is an anion, it is not a nucleophile - why?

Watch Video Solution

BF Θ
4

95. Why does :  act as an eletrophile?

Watch Video Solution

CCI2

https://dl.doubtnut.com/l/_LChnsmNIBqPE
https://dl.doubtnut.com/l/_1lsJ09NqitMF
https://dl.doubtnut.com/l/_1ORV9kcO7Os9
https://dl.doubtnut.com/l/_S4wW0zxx4pCa


96. Classify the following species as electrophile or nucleophle and explain

your choice: 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(vi)  


(vii) R - X

Watch Video Solution

CH3

⋅ ⋅
O
⋅ ⋅

: Θ

CH3CO
⋅ ⋅
O
⋅ ⋅

: Θ

:
⋅ ⋅

Cl⊕

⋅ ⋅

BF3

(CH3)
3

⊕

C

CH2 = CH2

97. Formulate the following as a two - step reaction and designate the

nucleophile and electrophile in each step: 

Watch Video Solution

CH2 = CH2 + Br3 → BrCH2CH2Br

https://dl.doubtnut.com/l/_S4wW0zxx4pCa
https://dl.doubtnut.com/l/_yQCgamIH7QAQ
https://dl.doubtnut.com/l/_8KaSUSNVVAT9
https://dl.doubtnut.com/l/_JmZCIRbIRj8S


98.  are called ambident nucleophiles. Explain

Watch Video Solution

CN − and NO−
2

99. Mention the type of each of the following reactions: 

(i)  


(ii)  


(iii)  


(iv)  


View Text Solution

CH3CH2Br + HSθ → CH3CH2SH + BrΘ

(CH3)
2
C = CH2 + HCI → (CH3)

2
C(CI)CH#

CH2 = CH − CH3 + CI2
400 − 600 ∘C

−−−−−−→ CH2 = CH − CH2CI

CH3CH2Br + OEtΘ → CH2 = EtOH + BrΘ

100. Which one out of  reactions is more suceptible to steric

effect and why?

Watch Video Solution

SN1 and SN2

https://dl.doubtnut.com/l/_JmZCIRbIRj8S
https://dl.doubtnut.com/l/_XkPYReRMmMVk
https://dl.doubtnut.com/l/_ecYRL1bsydtI
https://dl.doubtnut.com/l/_ps6rdLSlILOU


101. Which of the following reactions do not invole an intermediate and

why? 

Watch Video Solution

SN1, SN2, EI, E2

102. Mention the type of substitution reactions in which the attacking

reagents are .

Watch Video Solution

NO⊕
2

, OH Θ or
⋅
CI

103. How will you purify a samople of benzoic acid that contains traces of

common salt?

Watch Video Solution

104. It is possible to get pure benzoic acid from a sample containing

impurities of naphthalene through the process of recrystallisation using

benzene as a solvent? Give reason-

https://dl.doubtnut.com/l/_ps6rdLSlILOU
https://dl.doubtnut.com/l/_K2xCf3RqLDBt
https://dl.doubtnut.com/l/_VXrXGu8o6JBp
https://dl.doubtnut.com/l/_vFe8hkSh1Do7


View Text Solution

105. Explain why glycerol cannot be purified by simple distillation. Mention a

method which can be useful.

Watch Video Solution

106. How do you separate a mixture of o - nitrophenol and p - nitrophenol?

Watch Video Solution

107. Suggest a method to purify: (i) iodine containing traces of common

salt: 

(ii) Kerosene containing a little of water and 

(iii) camphor containing a little benzoic acid.

Watch Video Solution

https://dl.doubtnut.com/l/_vFe8hkSh1Do7
https://dl.doubtnut.com/l/_XPSkJiNWBMyR
https://dl.doubtnut.com/l/_oBu4xP6DBo12
https://dl.doubtnut.com/l/_MQh7infUHe58
https://dl.doubtnut.com/l/_FE6y1rK1ZlAj


108. Suggest a method for the separation of each of the following mixtures: 

(i) A mixture of liquid A (b.p.365K) and liquid B (b.p.356K) 

(ii) A mixture of liquid C (b.p.395K) and liquid D (b.p.360K)

Watch Video Solution

109. Which technique is the most suitable one to separate the three

components A,B and C from 10mL of their mixture?

Watch Video Solution

110. The  values of two compounds, X and Y in a mixture determined by

TLC are 0.66 and 0.41 respectively. If the mixture is separated by column

chromotography using the same solvent mixture as the mobile phase,

which one of the two compounds will be eluted first and why?

Watch Video Solution

Rf

https://dl.doubtnut.com/l/_FE6y1rK1ZlAj
https://dl.doubtnut.com/l/_sETcjE47TdYn
https://dl.doubtnut.com/l/_sW7W8kPCzZfq


111. Which physical properties are generally used to determine purity of

organic compounds?

Watch Video Solution

112. Explain why an organic liquid vaporises at a temperature below its

boiling point in its steam distillation?

Watch Video Solution

113. Give an example of each of: 

(i) adsorption chromatography and 

(ii) partition chromotography.

Watch Video Solution

https://dl.doubtnut.com/l/_ypRr1e1Vr6R1
https://dl.doubtnut.com/l/_VbEd60xPWDkm
https://dl.doubtnut.com/l/_nTEwMGMr4Wm7


114. Which reagent is used to detect the presence of hydrogen in an organic

compound?

Watch Video Solution

115. Explain the reason for the fusion of an organic compound with metallic

sodium in Lassaigne's test.

Watch Video Solution

116. In the fusion test of orgainc compounds, the nitrogen of an organic,

compoud it converted to - sodium nitrate, sodium nitriete, sodium amide,

sodium cyanide.

Watch Video Solution

117. Why is Lassaigne'extract not prepared with tap water?

https://dl.doubtnut.com/l/_drA0FeO3aBuT
https://dl.doubtnut.com/l/_mtCon4tECGKB
https://dl.doubtnut.com/l/_ICAjZjtxPICP
https://dl.doubtnut.com/l/_8dISSFXayjUH


Watch Video Solution

118. Write down the formula of Prussian blue.

Watch Video Solution

119. Why do diazonium salts not respond to Lassaigne's test ?

Watch Video Solution

120. Explain why chlorine but not nitrogen in hydroxylamine hydrochloride

can be detected by Lassaigne's test.

Watch Video Solution

(NH2OH ⋅ HCI)

121. Is it possible to distinguish between hydrazine and phenyl-hydrazine by

the Lassaigne's test? Give your reason.

W h Vid S l i

https://dl.doubtnut.com/l/_8dISSFXayjUH
https://dl.doubtnut.com/l/_XKKnZTa3Naqu
https://dl.doubtnut.com/l/_KohrsJMS96WL
https://dl.doubtnut.com/l/_4LmAhrYbbKys
https://dl.doubtnut.com/l/_brb6ncWEsc1c


Watch Video Solution

122. Explain why the sodium extract is boiled with nitric acid before adding

silver nitrate solution for detecting halogens.

Watch Video Solution

123. Beilstein test cannot be considered as a confirmatory test for the

presence of halogen in a compound - why?

View Text Solution

124. Differentiate between the principles of Dumas method & Kjedahl's

method.

Watch Video Solution

https://dl.doubtnut.com/l/_brb6ncWEsc1c
https://dl.doubtnut.com/l/_pvor7Y5fNQ6S
https://dl.doubtnut.com/l/_pug9ekssR26k
https://dl.doubtnut.com/l/_B4IM61WcVmOc


125. What is the role of  used in Kjedahl's method for

the estimation of nitroge?

Watch Video Solution

CuSO4 and K2SO4

126. Which method is used to extimate N in food stuffs?

Watch Video Solution

127. For which compounds, Kjedhal's method is not applicable for the

estimaiton of nitrogen?

Watch Video Solution

128. What is the principle of Carius method for estimation of S?

Watch Video Solution

https://dl.doubtnut.com/l/_KGSfydfQl7EV
https://dl.doubtnut.com/l/_N4gwHX9xqpqq
https://dl.doubtnut.com/l/_4GSbpxSqtH0b
https://dl.doubtnut.com/l/_fO4kP482WQHm
https://dl.doubtnut.com/l/_FTrwfH0rtFrr


129. The weitht of which compound is finally taken in Carius method for

estimation of phosphours?

Watch Video Solution

130. 0.495 g of an organic compound on combustion gave 0.99 g of

 g of water. Calculate the percentages of carbon and

hydrogen in the compound.

Watch Video Solution

CO2 and 0.405

131. 0.05 g of an organic compound when analysed by Dumas method

produced 62.0 mL of nitrogen at STP. Determine the percentages of

nitrogen in the compound.

Watch Video Solution

https://dl.doubtnut.com/l/_FTrwfH0rtFrr
https://dl.doubtnut.com/l/_h6EYVIalZgcL
https://dl.doubtnut.com/l/_4ZGyzLOT8Vua


132. 0.4 g of an organic compound containing N was Kjedahlised and 

obtained was passed into 50 mL (N/2)  solution. Volumn of the acid

solution was increased to 150 mL by adding distilled water. 20 mL of this

acid solution required 31 mL (N/20) NaOH for complete neutralisation.

Calculate the percentage of N.

Watch Video Solution

NH3

H2SO4

https://dl.doubtnut.com/l/_nX9sTxQ33ks6

